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OMR T&z+afb o3¢ 1 7ItK SIS SN2 [f*se 208 203 (@ 2Mioitg 1-72 211G 7T sjpiafE @ipiE
(e 200z 3% 50 00 203 (@ OMR TER@h (e O G | (T 2061 RS LRt SReTy W mwacs
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« e 9:00 THH ATE eief@ #Frw FHCS Y |
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@S OMR Teasitad e Bt FiteT 900 T @R ANCER 2T 8 (AR 2D «Fio It @
TP {14 OMR TEa=1afs AfoFeira 27 F9re 2| T2 OMR TSGR IJETE F1 23 |
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T I @R ORI OMREEa g At Sl (reTia N | (I ATrHI OMR Tea9@ &l (heqid
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OMR TG9[q I O (I LR FI9NCS TS AR a1l | 77 AT @ 497G (rough) 1% OMR TER09
TR AW 6 IR PR, O (12 OMR TR/ eI T 203 A1 |

«  STHR TGS q ACHACE (I LA SO TS 20 24! (QRTE SPIf! 2o TRANEn AFAe a2 eiFe g e
N°f 1 AN

o 2T BARE I (I AT S ® O7ls TR SRS (e Z@ A |

ATTHILIR TR 231/FCF I g AN (@5 GIRIZSA (P, TAFEGS G (I @i Siee At
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o STFSTETIfE/aTaTe FRa forsTerssT e M= gar sk el %, shetgheler e fafe I@mf AR seishef e
a1 sTeEee faf fasmferdt <H 2Fm S |

Paper-1/C 4



OMR ITR-Uh hl WA & Uger Uietreft o gifyed ot o foh uv-ufent  1-72 7k |t U HATTER
Hfea ¥ a9 g oft giifyea st of feh OMR ST-Useh shelet S99 & Haitue &1 ferelt oft forgfa ot Rearfar
B U Yv-GReeRT Iget & dehtet FRTereh Rt gierd i |

* TTE: 9:00 TS W U THT-heT W YyT-Yfeaehl T @it |

* OMR STR-U3eh o SUITh I H W&l I aht Aot/ ahiel Ster-wrge U § fafed o | gd weft wo=t &t
Y deh UG o, ThITUT WHd: TTeTd ST 3i Weh & U9 o foiq weh & sifies fashcd & oM & W
0.25 ThNTHGh 31eh ohT UTALTT & 3TX fgeiaa: fontdt off Uentt shi TToTal 3T9rem Yo o feTg 3tfais OMR
IAC-UAh el QAT ST |

* T-HM% OMR ST-UFSH o SFTEER o WA |, Tdemmel st ifamea: STueT et e, Yy=-Yfieht
Ui, WY-TRaehT g OMR ST-Ueh § U 7T T ® STHifehd ST ENTT AT Ueh JUTHTET 31T
HEATHS ®Y OMR SUI-USeh o M 3T WS &l U # feasr g1 =99 OMR SW-USeh &Rl
IR el TehaT ST |

o gitenfelat st fiteres g <t 2 Suftufa /e vie W S 9) ZETeR &hid i, Teel IR e gdtenet
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o YUYl oh HTEAH/HERI0T | fordl ot fadwrta ar yw =ht fearfa o iUsl S&huT & Wit 3|

o TRIe % SR fRE off wieneft i wien % Bied i oAl & T

o Ifg g Tdemefl Terd TR ST Y U A1 © 1A Ffqefea il T S/ Hieed W, Sheghored a1
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1. Fill in the blank :
Yasmin on paying the bill for her whole group.
(A) requested (B) promised (C) suggested (D) insisted

2. Which is the correct spelling for an annual day-date list ?
(A) Calandar (B) Calendar (C) Callendar (D) Calender

3.  Which word in the following list is a Verb ?
(A) Run (B) Black (C) Faster (D) Human

4.  Identify the preposition in :
The man is sleeping on a cot.

(A) on (B) man Q) is (D) the

5.  Which word is the antonym of “Arrival” ?
(A) Conquer (B) Enemy (C) Departure (D) Welcome

6.  Choose the correct punctuation mark for the sentence.

“Have you seen my school bag”

(A) B © & (D)

7.  Identify the synonym of “Accurate”.

(A) Total (B) Pedigree (C) Sincere (D) Correct
8.  Identify the appropriate collective noun for bees.
(A) herd (B) swarm (C) group (D) bunch
9.  Which single word would mean the same as underlined portion of “The vaccine made the

person resistant to infection from Covid-19 Virus”.

(A) Immune (B) Healthy (C) Doctor (D) Medicine

10. What does “hang up the boots” mean ?
(A) Place the boots for cleaning (B) Kill someone by hanging

(C) Retire from active life (D) Peace after a war
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11. Which of the following Muslim commanders did Mula Gabharu fight with ?
(A) Mir Quasim (B) Turbak (C) Itutmish (D) Abeidullah

e N ey

11. WSS (e e EHi7ies [Rees o e J7 IR ?

(A) Fr (B) W< (C) ZTTghim (D) TrwER
11.  SIGR CFIF PRTI IR 105 el ST J7 FEMRE 2

(A) Tl (B) wiw (C) ZTTgefm (D) TR
11.  HoT MH'S 91 TREH §R WY GHeHH HHEYRTRES e TS THH ?

(A) T e (B) TW@Th (C) TeIqeHrel (D) SeIgTeE
11. o MHE | fAfafed 9 9 feg Jaeme 9amHid 9 dSE i ?

(A) R e (B) T+ (C) Fegataw (D) SeigeeT
12.  Which of the following is not a criterion for citizenship of India ?

(A) Acquisition of Territory (B) Buying property

(C) Naturalization (D) Descent

12. IR e @R oFes AniRees Mol w2w 2

(A) o e (B) Fife @™
(C) aigfeed (D) 3=

12.  TF (@G ORcea TsfEered Tawe 71 ¢
(A) TG wfdaze (B) e &
(C) FreiFFe (D) 3¥e

12.  YRAM ARTRIRY HEAT TRRIA Fo31 MY 7T ?
(A) BIM AR (B) Y HHW(A AR
(C) BHH "I (D) ThITR

12. frAfafEa § § F 91 9Rd 1 AT S TS el © ?
(A) &3 1 SRy (B) wufd e
(C) iR (D) o9
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13.  Which instrument is used for measuring atmospheric pressure ?

(A) Hydrometer (B) Altimeter (C) Barometer (D) Thermometer
13. ISR B9 GIRCE (@ARY TG 9209 790 T 2

(A) =RGHEE (B) wIfofiR Q) &IfHoR (D) «rfGR
13. IR G191 SARSCR G (i g 981 I 2 2

(A) TGIRGE (B) wIFGRIGR (C) Ao (D) AGAfGE
13. 99 SHYST IRAVSART TRATIE! Tl ?

(A) TEEHER (B) AfEfHeER (C) =R (D) UNH'THeR
13. SHScE <ad i 419 % fou fond SueRtor o1 SuET fohan smar © 2

(A) TESHE (B) eTeHIX (C) SR (D) iR
14. “Gobha Raja” is the titular king of which community ?

(A) Ahom (B) Mishing (C) Khamti (D) Tiwa
14.  “(olfl @17 (i T=MRE T @i 2

(A) SIS (B) ffm (C) <rfs (D) fea
14.  “calfSl & (S TRMIEF TN e 2

(A) =CE (B) fifbr (C) (D) fox
14. ‘TS’ A 96 BIRM GeTed’ 9™ TS 2

(A) ™ (B) fafd (C) wm™fd (D) faen
14. ‘i T SR SR S AR ST § 2

(A) 3 (B) fafdrm (C) @it (D) fan
15. Which community of Assam has “Choklong” system of weddings ?

(A) Bodo (B) Dimasa (C) Mishing (D) Ahom
15. ST (I TeMEe 5k’ A [l swoe = 2

(A) < (B) feury ©) fifx (D) e
15. SPICR (PN =M [RAICE “(oIpeiR” 2w [0 2

(A) el (B) fTm (C) fafbe (D) =M
15. STEm o6 TR =eha ! TSt Jfd ar ?

A) a7 (B) femmn (C) TafE (D) 3mEH
15. 318" % fod U@ o <renai’’ =t foame gomet § 2

(A) @ (B) fewmem (C) fafem (D) @
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16. What was the former name of Karbi Anglong district ?

(A) Mikir Hills district (B) Lushai Hills district

(C) Cachar Hills district (D) West Naga Hills district
16. IR eR @i o157 91w & =nifes 2

(A) FfRss oI &t (B) IbiZ ey &t

(C) F=E 2Ky feem (D) =If¥5x Fa siifey fEmemt
16. I IR (T 7S 1% St e 2

(A) fife= #ier (ol (B) IR SRSy (ol

Q) T 2y (& (D)  if*6s1 sl #{ifey (@t
16. <mifd 3ficd fSenfs ity g1 wmm ?

(A) TafRT feew e (B) qure feed e

(C) =R feed fSem (D) ErTs AT feew fret
16. S AT el 1 I8l A R o1 ?

(A) TafR i e (B) TR U fSre

(C) SR e et (D) Uf¥=m Arm e e
17. Which mountain range passes through Delhi, Haryana, Rajasthan and Gujarat ?

(A) Shivalik range (B) Borail range

(C) Satpura range (D) Aravalli range

17.

17.

17.

17.

(FICE! ASowleT e, LR, ISTE M BTG WSS AN 02 ole® 2

(A) Frife sfouEl (B) =iZat el
(C) ATl Rl (D) SIRRET e

@ oReraT Wfe, 2, AEEN W3R ST N M oz 2

(A) fraifers sfea (B) Rize siforaT
(C) A7l A= (D) SIRRE! ARFor=at

TR BT el SIS A1 feeett, FRamI, TSE™ ST I[SRIdaS) aRaAlS | ?

(A) Terarfee seimn @ik (B) IS BT €Ik
(C) HeqU T AR (D) Tl st |
HA-Gt T e feeelt, g, Terer iR o ¥ B o ¢ 2
(A) Tirenfersn vl (B) kel TelaHTCH

(C) Hage! qeaHTer (D) ST FeiaHTet
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18. Which country is known as the “Cockpit of Europe” ?

(A) Switzerland (B) Belgium (C) Spain (D) Portugal
18. FIRMGEIRS (S (i “TTCa7 0" sl &l AR 2

(A) pRERCES (B)  CRetfemr (C) (D) gl
18. “TICH3 (I (G “BTCRAIC2R (5 0o @IS 2

(A) RERETS (B) el (C) (D) CoATgAeT
18. &9 BRY@! 33U Fepdie '’ S fAfom ?

(A) FERES (B) s © ¥ (D) W
18. foF¥ T I ‘XY I Hishie’ Hal T & ?

() fEzwrs (B) dfesrm (€ = (D) AT
19. Alexander (the Great) was from which ancient kingdom ?

(A) Persia (B) Byzantine (C) Macedonia (D) Ottoman
19. SNERRESR (@N4e 25 Jrems wifes 2

(A) sl (1)  (B) Reifew Q) e (D) ST
19. NCERREISR (T2F) (I 26 e = 2

(A) AR (B) dlZrerbiEd ©) e (D) SICGINH
19. 3TeThSIER (T U2) TQl MR o S HH ?

(A) IR BRI (B) fosmfen (C) #A=R'frn (D) &A'THH
19. THehat (Wem) T wr=id T 4§ o ?

(A) HRE (B) sfsifred (C) HI=fT (D) A
20. How many countries does India share land borders with ?

(A) Six (B) Seven (C) Eight (D) Nine
20. ORSINS (BN (PR T T = T 2

(A) = (B) e (C) = (D) =
20. OO (T 3 SIFCSF T TS FECL ?

A) = (B) e (C) b (D) =
20. HRAI HHASY SIS BIgTE A1 Terr 2

(A) "MT (B) #WAfH (C) HF <A (D) #M7
20. R fohaa S & T Tl ST HE A © 2

(A) B (B) (C) @M (D)
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21.

21.

21.

21.

21.

Which of the following rulers had ascended the throne at Delhi ?

(A) Chand Bibi (B) Rani Ahilya Bai (C) Rezia Sultana (D) Rani Laxmi Bai

fI=flRe @maRF! «ers e Prgwee siE sk 2

(A) vw RR (B) M Stz A% (C) (&Gl pevelwi (D) [T s Al

0= @ =75 fremig Braeie SiEee sEfkeEs 2

(A) W &R (B) AW omEm Ax  (C) e Ferem (D) AT I AN

a9« g feeenit asifderamme <1 'S ?

(A) == fafa (B) Uftr afgean e (C) ot ear (D) o1 S&H =g

frafafaa § & =@ @ weew fooeht i T W S o1 ?

(A) i St (B) Tt feem e (C) s gear (D) T A =

22.

22.

22.

22.

22.

Who was the first Vice Chancellor of Gauhati University ?
(A) Nabin Chandra Bordoloi (B) Gopinath Bordoloi
(C) Kamalakanta Bhattacharyya (D) Krishnakanta Handique

5T ReelfvrieTeR et @I TG (@ wifee 2

(A) 9 5@ IS (B)  CaNsTiiel qqweat
(C) TR SHIGIT (D) FIIE AUCS
T2l R eew Tl & fagem 2

(A) 9 b IS (B)  CaNsTimiel qmcet
(C) TG SHHR (D) FIRE AT

TarER! arEraEtar ffafa wrem fifa 9 2

(A) T == /A (B) TIfaer sReet
(C) HwATERN WgrEH (D) FOEH Bfah
TaTETe! fovafaane™ & YoM Herdid hid 9 ?

(A) e =g SRS (B) ATy dARGIrs
(C) wHHaTRia wgrard (D) FoTRid Sfesh

23.

23.

23.

23.

23.

Which kingdom of India had influence extended to Southeast Asian region ?
(A) Chauhan (B) Rajput (C) Gupta (D) Chola

TSI (T AFICTT Ao wiwo-o7 Gfexl weeeica [ige C2fe 2

(A) BT (B) <rEr[® ) v< (D) @«
wiipel-s [ AR ST SRS (FI AT 2O TS 2l 2

(A)  ®12H (B) d&7® €) o< (D) e
YA o TISiel Qe -HHsT TEan STTErad e WRaei! gF™ el gHF 2
(A) e (B) A (©) T (D) =
IRA o ford | o1 99T Sf0-Te TR &5 7 o1 ?

(A) e (B) T (© T (D) =
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24. Which kingdom did Sati Sadhani belong to ?
(A) Koch Kingdom (B) Ahom Kingdom
(C) Dimasa Kingdom (D) Sutiya Kingdom
24. ST A (P AGIF IS FEAS WlfesT 2
(A) (I Srey (B) SIlCAN ey
(C) fomm rey (D) oI rey
24. TS| AL (P ACET f>lwW 2
(A) (I <rey (B) SIICAN ey
(C) TGl wrey (D) few ey
24. Hfd @R e TS 2
(A) w9 IS (B) 3T&'H TSl
(C) feurn T (D) gfe=n TSl
24. Hdl el foRE TS | Hefed off ?
(A) B TA (B) 3TRM A
(C) femmn == (D) gfaan T4
25. Who was the first President of the United States of America ?
(A) George Washington (B) Abraham Lincoln
(C) Thomas Jefferson (D) Benjamin Franklin
25. SR ST AN AGelfe (i wIifeet 2
(A) o A5 (B) R ferew
(C) AR (ST (D) @I &FFhw
25. i TEAIET 24T ARATS (& fogem
(A) T GG (B) IR forze
(C) A (TP (D) @G FE>W
25. AR Serggred fifafe greRffen 9w 2
(A) TS afdfed (B) 3Tome™ feferd
(C) I SHRET (D) ST Shehferd
25. TIF T STHRRT o Y| Tgafd F 9 ?
(A) SISt af¥iTes (B) 31oeH feieh
(C) oT9H ST (D) SifHA Shepfem
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26. Which of the following districts of Assam is in the Barak Valley ?
(A) Hailakandi (B) South Salmara-Mankachar
(€) Chirang (D) Morigaon

26. WEFERS (@@L T [T ToloFre SRIZS ?
(A) I (B)  WEFel ®IeTwdl - WFIRS
(C) oA (D) wfReffe

26. THCRT & (@A AN AT S2AGIT SRFS 2
(A) AW (B)  Wrel *{eTIR - PG
(C) o=l (D) fzeffe

26. ST o6 S S0 w2
(A) BEHAGRIS (B) WIcl HICTHRI-HHSR
(C) T (D) #femE

26. 3T8H o frAfAEd & | HH-91 el s’ =t § €2
(A) TamHIE! (B) U FEHRI-HAH=R
(C) ferim (D) HrTE

27.  Which of the following has the NITI Aayog replaced ?
(A) Competition Commission of India (B) Staff Selection Commission
(C) Union Public Service Commission (D) Planning Commission

27. fwffe @EGE JiEe TifS S @R F9 (TR ?
(A) wiFes efstaifs s (B) oIS fioe el
Q) FUR ERFER SN (D) ~Ifese St

27. IHA (PR TS Sce efeTion FE0z 2
(A) wrRrex dfstaiforet st (B) o o el
Q) FUR @RI S (D)  CASH! Seael

27. TEMEE 3™ & S NITI $TERT ara ?
(A) wftafes HiaeE 3% sfean (B) W THeieheM ST
(C) I wifserss wiferd swfeH (D) faerif smem

27. fa smEm A fafafea § 9 feae wom fomn g2
(A) ¥R gfaeast ST (B) HHERI =& AN
(C) HH ik Far ™ (D)  SISHT TR
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28. The Upper House of the Parliament of India is called :

(A) Lok Sabha (B) Rajya Sabha (C) Vidhan Sabha (D) Vidhan Parishad
28. RS TH T (I ¢

(A) @RSl (B) SrepTel (C) TR el (D) R sifsam
28. SRS ALTHS CHIH(F &1 = 8

(A) @Rl (B) el (C) R 1@ (D) RF ifFaw
28. YRAM HHSH TSl TEA@! | 71 SR ?

(A) 'w' gl (B) TSI @ (C) faum w1 (D) faum aftwg
28. THS % HUL U I el 1 ¢

(A) Tk g9l (B) TF 9 (C) faum @ (D) faum 9ftug
29. Which of the following countries does Assam share international border with ?

(A) Thailand (B) Bhutan (C) China (D) Nepal
29. RS @R (R T SO SSRGS SoIzo ] ik ?

(A)  AFETY (B) b (C) B (D) il
29. fCR TSRS (PR (ORI AT SR SIS o SR S w2

(A) <Azl (B) g0 (C) b (D) oM
29. 5 BIRLSH SATHHT BRI e Teerma ?

(A)  gEeA= (B) M (C) == (D) U
29. oy fr=fafea § 9 fhg <91 & Wy STausi 9ian |ren & § 2

(A) o (B) =M (C) = (D) Tt
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30. McMahon line separates which two countries ?
(A) Afghanistan and Pakistan (B) Myanmar and Bangladesh
(€) India and China (D) Vietnam and Thailand
30. (AT AICINL (T L (76 92T I 2
(A) SIReoNfrE o A (B) SIS S ARSI
(C) ©F® W5 (D) fSEGAN IR ABCETe
30. SORFSIES STSICARN (I 6 OIC ST SRR 2
(A) SIS @R 2T (B) SIS @ JILEAICH=]
(C) ©F® RGN (D) formeam @38 zemie
30. HehHed FEART o6 FRTERE! el ?
(A) TR 3T TIfeh&d (B) TR 3T FAle¥l
(C) ¥Rd AN == (D) FRdT™ &R Ageie
30. HeHHTEA Y@ o < <20 1 ST HIA § 2
(A)  AHMEM TR uiferear (B) R iR FiT@Rw
(C) ¥R IR <= (D) fooram iR omgeie
31. Kurseong is a hill station in the state of :
(A) Sikkim (B) Arunachal Pradesh
(C) West Bengal (D) Nagaland
31. AL T AR ¢ AT TE 2
(A) Tofe (B) SI=elBE STl
(C) o (D) =elCeTes
31.  IFRR #A1=fS 2w in ey ¢
(A) s (B) SIEONBE AT
(C) o= ERIRIGHI
31. pfdaien IS Bl RHA|
(A) fafsrm (B) STEUTEA YW
(C) HFmE ST (D) FTA=
31. AN 30 T & TF foad AT
(A) fafsrm (B) oTEUTEA YW
(C) dfem ama (D) IS
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32. Ali Aye Ligang is a festival of which community ?

(A) Khamti (B) Mishing (C) Karbi (D) Dimasa
32.  SIIfe SISCR AN (PN 2R BT 2

(A) <fe (B) fafex ©) = (D) o
32. eIl SR feolle (Pl T2MICe B 2

(A) A (B) fafog ) = (D) o
32. fifct ST foriiet ofet I el ?

(A) @mEfd (B) Tafd (C) hIfs (D) feamm
32. 3Tl U form ford THRH™ 1 WRR T 2

(A) it (B) THf¥im (C) il (D) fewmEn
33. Kathakali is a dance form of which State ?

(A) Gujarat (B) West Bengal (C) Kerala (D) Himachal Pradesh
33. IR (NI IETT GF TOF <A 2

(A) wT@b (B) sif*oam (C) & (D) fesIbeT o
33. FRI (I A TOICHEI 2

(A) wTG (B) Mo Q) = (D) fearbet 2o
33. HUHAE el THSU HIEH ?

(A) TS (B) HH ST (C) e (D) feur=ret wew
33. HUTHA fFT T 1 TA €T ?

(A) TSEE (B) wf¥=m M ©) Fa (D) fewr=ret wew
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34. Identify the southernmost river amongst the following :

(A) Indus River (B) Godavari River

(C) Brahmaputra River (D) Cauvery River
34. TR Mg #41 WiGRScs nfErTe SRES 7711w e T |

(A) Trpaal (B)  (WRST Wl

(C) =g i (D) PICEST ™t
34. TR GraRSOR W&y (A A vl e anl e

(A) Trg T (B) (oS! =Tt

(C) =g i (D) JES! Tl
34. TR WATRTAIR SR SATE! e -

(A) farg 3 (B) TSI <l

(C) SI=Igs <A (D) = 3
34. freAfoifad # @ wor@ gfeoll <t ot wewH |

(A) fHy = (B) Tiererd et

(C) &I (D) =hret el
35. Which of the following words is NOT in the Preamble of the Constitution of India ?

(A) Fraternity (B) Dignity (C) Modesty (D) Liberty
35. WRERS (HRG = Biies FRANT LB T 2

(A) ©IOHREY (B) srmi ) Fw (D) F&qTel
35. I I = SRS MRRAIEH dFRET 712 ?

(A) oY (B) (C) (D) HIgTSl
35. TIERIM el Fiews At Sfafsef T o 2

(A) STt (B) HH-HTHH (C) TSR (D) s<ifE|
35. frafafed # & FF-91 W 9Rd F Hidem i wwET | T8 S 2

(A) WEERI (B) imn (C) fortaan (D) Tefcl
36. Which dynasty ruled the longest in ancient Assam region ?

(A) The Ahoms (B) The Barmans (C) The Koch (D) The Sutiyas
36. 2bIN SPT YEIFS (i IR AT et #(97 Fifee 2

(A) Mz (B) T (© (D) g5
36. (I AIE DT SPT SIECe TN T 77 i 2

(8) iR (B) T (© c (D) gfem
36. L] STl HIHH Sl ®|¢|F'H%$ AT | Gl(’ilHQ[Hl"l?

(A) RHER (B) &HA®R (C) HHARR (D) FfaaT®r
36. U TEA & H ford USew 4 w9 stfien 9Hg qek wA TR ?

(A) 3™ (B) = (©) == (D) gfen
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37. Which of the following sea passages connects Asia with Europe ?
(A) Suez Canal (B) English Channel
(C) Panama Canal (D) Strait of Malacca
37. RS @G AEY @R 2OEPR Gs AE@N9 I 2
(A) DR A (B) TS e
(C) =l <re (D) SIeTRR elelieTt
37. SI6A (I Tmole @3 @ TSEIAE RIS FECR ?
(A) e e (B) ™ BiiceTe
(C) =l <feT (D) SeTl oo
37. TR 99 el AT T R SSXuE geie 2
(A) YU SR (B) sferer Sam
(C) HHMI SR (D) WA BT-gSie
37. freafafea § @ =9 o1 wget 9nt e o 909 | sirear €2
(A) T TR (B) Efierer TR
(©) T T (D) WAHRl TASHEAH
38. What is the introduction to Constitution of India called ?
(A) The Preamble (B) The Preface
(C) The Introduction (D) The First Page
38. SROR MRFuNT SISl =i+ & Jfer (TR = 2
(A) AT (B) il
(C) (D) =2 7B
38. ST MR GHIFIE FI I60 = 2
(A) oAZE (B) A=
©) ef (D) @2 =
38. WRd( Hfefore TEwRARG! Al gl 2
(A) G RRAA (B) T®RAA
(C) TIHRA™ (D) wfy faag
38. WRd % G 1 JfHHT I 1 FHeAl  ?
(A)  TEIEA (B) U=
(©) fwet (D) T&el I8
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39. What is the main component of a glacier ?
(A) Lava (B) Salt water (C) Ice (D) Rain forest
39. faRIEE eyl THm {5 2
(A) el (B) RN T& Q) =T (D) Rl
39. [ Ade THAMI T 2
(A) =rel (B) R & C) == (D) IR
39. SHQHI RS e | ?
(A) @ (B) wfa? (C) T® (D) oT@n o7
39. feoie A TF RN T ?
(A) @ (B) @RI UMl (C) & (D) =i =d
40. Which of the following is the Capital City of Chhattisgarh ?
(A) Raipur (B) Ranchi (C) Bhagalpur (D) Dehradun
40. FRERS A7 (@FF4 Hewes el beT ?
(A) (B) Ml (©) riE (D) g
40. NHH (P LGNS AT *2d 2
(A) g (B) =i (©) wIEE (D) Cre
40. RS SHE T91 BARETSH Tsemaf ?
(A) TR (B) A (€) W (D) <EET
40. Tr=fafag & @ HH-91 SIS o T § 2
(A) TR (B) T (C)  TIETR (D) =&
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41. The LCM and HCF of two numbers are 24 and 4 respectively. If one of the numbers is 12, then the
other number is :
(A) 20 (B) 8 (C) 10 (D) 6

41. VDI MR TN S 9071 TAGFCT 24 Dk 4. ARANETF <Ol IW 12 2 (ST AW 7R 24 8
(A) 20 (B) 8 (C) 10 (D) 6

41. 95 SRR FALG. GIR ALY, IAFCE 24 3R 4. G0 AL 12 20 S ARG ¢
(A) 20 (B) 8 (C) 10 (D) 6

41. HFA STATTHIRRM G791 TR <. 3791 A1 WY 24 TR 4 | i STARTHT HALAT 12, T STATHRT -
(A) 20 (B) 8 ) 10 (D) 6

41. T G H AT THYEE IR IHAAH THIAAR HA: 24 314 T 1 A T Hem 127, @ g wen
T
(A) 20 (B) 8 (C) 10 (D) 6

42. The sum of the present age of the father and the son is 60 years. After 15 years, the father’s age
will be twice that of the son. The present age of the son is :
(A) 10 years (B) 25 years (©) 18 years (D) 15 years

42. 909 B9 2/ IO IR ITE 60 TF | 15 71 9120 {7 I391 7j@d I99 726l 29| 7j@F TS I
[EE
(A) 103 (B) 253 (C) 183= (D) 153

42. o/ol @ 77 TG TER [@9ITH 60 I | 15 TR #1F o I8 7J1a [WOR Bwed 203 | 7Jad IS I
EG i
(A) 109 (B) 259 (C) 183 (D) 159

42, oTfETeE faw R fREmsa S SSERET 60 SR 1 15 SERA 3 fawi sHien frasat
T S | ST fReeet SEieT s 2
(A) 10 9IER (B) 25 ¥R (C) 18 9ER (D) 15 9ER

42. fan 3R I T A g 1 AR 60 6 T 1 15 8 1 fd st 2717 I i 3T ¥ SR SN | I i SdHE

g T
(A) 10 94 (B) 257N (C) 189 (D) 15 9§
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43. The sum of the odd numbers 1, 3,5, .. ... upto 15 terms is :

(A) 225 (B) 125 (C) 169 (D) 196
43. SFAMWANL 3,5,..... T 15 Bf #CA o (AI9NFeT C20Z 8

(A) 225 (B) 125 (C) 169 (D) 196
43. SPAMWANL, 3,5,..... 15 5 +iv 21 (5 A0 oI T ¢

(A) 225 (B) 125 (C) 169 (D) 196
43. oS SAMSH 1, 3, 5, . . . 15 T faafq <siemmaEn -

(A) 225 (B) 125 (C) 169 (D) 196
43. 1,3,5,..... e faom demsh &1 15 98 9% H1 AT T

(A) 225 (B) 125 (C) 169 (D) 196

m 6 —4
44. Findmif 2 X2 X2~ _,12
55
(A) 5 (B) 3 < 8 (D) 7
6 -4 P
4. = 2 X25X2 — 212 (o0% m I N FiEe 39 |
=
(A) 5 (B 3 < 8 (D) 7
m 6 —4
44. m fefa 59 9 2 X25X2 — 012
=
(A) 5 B 3 <€ 8 (D) 7
2Mm % 2% x 2 12

44, m G g e = 2

(A) 5 B 3 <€ 8 (D) 7

m 6 —4
44, =g 2 ><25><2 — 212 A A m I FIC
=
(A) 5 B 3 < 8 (D) 7
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45. (—1)°+(-1)° equals

(A) 1 (B) -1 (C) 0 (D) -11
45. (—1)°+(—1)6 3 9 (2=

(A) 1 (B) -1 (C) 0 (D) -11
45. (—1)°+(—1)° 93 7=

(A) 1 (B) -1 ) 0 (D) —11
45. (—1)°+(-1° 7 9m fega -

(A) 1 (B) -1 (C) 0 (D) -11
45. (—1)5+(—1)5 % HUE ¥ :

(A) 1 (B) -1 (C) 0 (D) -11
46. The sum of any two integers is :

(A) always a non-zero positive integer.

(B) always a non-zero negative integer.

(C) always either a non-zero positive or a non-zero negative integer.

(D) always either a non-zero positive, a non-zero negative integer or 0.
46. I YOI S14e FRAS (91T 2

(A) I 5] SH) 4P S | B |

(B) I GBI SH T S FLL| 2T |

(C) WA G S LIS LT OF YNIF TG AR 2T |

(D) WA GF ST LG, G S ATSE TG AN A 0 RS |
46. (I CICA 76 SR CIsir ¢

(A) Rl GG e G 2P |

(B) Wl Gbfb SI-Hely el wfeieey |

(C) %I = I ST LI Al S-¥a T ei2 |

(D) 71 2 GO S ISF, G0 SI-*[ Al 227 Al %7 |
46. STARESTA] HFH T SAISHAIA SO :

(A) SecTEE! AIfRE’ TS TS T S |

(B) Szl @@’ S TG A T ST |

(C) SieaEs! AIfRE’ 7S TSI TSTeal afy@’ 98 SFE o1 T’ ST |

(D) SiecTTEsl ARE’ 8 el TSTea olforg’ 78 @ el T ST ST e Teet e’ |
46. Toregl < quiteni o1 4

(A) THIM Tk TR-I SHTHS UM Bl S|

(B) TN Uk TR-I ThRIcHS qUlieh Bl |

(C) T A1 A Tk TR ¥ A1 T TR-Y THRIT quifeh 2 & |
(D) TN AT A Tk TR-IT &I, Teh TIR-Y THRIH quiteh, A1 0 Biefl 2 |
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47. A garden has p numbers of trees. Every tree has  number of branches, every branch has r number
of sub-branches and every sub-branch has s number of leaves. The total number of leaves in the
garden is :

(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs

47. (@I Q2 AMRS p (Sl MR SAR| ASCSIN TS q AL #1, ATSCH! * A 1 FRAT THN Wi
ASCO! ToMIIATS s IR i1 Al SR AfARTS 241 FHYS o] AR (20T ¢
(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs

47. @35 AN p RS M2 AAC2| 2fS(B 9NTZ q YT *N TR, A =N 1 U Gox{Il TR @]
&fSTD THHNA s AR 2] ACACR| AN (NG AT TR 2 ¢
(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs

47. WY faRaIRETE o p S% S| SRITel SHEETE HH q ST <, I HAhHal 3T 6 r I fhdl & $T-
HISRIHS s - TwErET T s foerg €1 o foamretiare med foem g2
(A) ptqtr+s (B) pq-+trs (C) pgr+s (D) pqrs

47. T o< H TS ol G p § | Tk U H YR &l €&l q Bl §, Yook I H SURIEnsti oht G r gl
T IR g Sueman # uftel s He s At ¥ | i H ufhdi e en ©
(A) ptqtr+s (B) pq-+trs (©) pgr+s (D) pqrs

48. The diagonal of a square is 10 cm. The area of the square is :

(A) 100 cm? (B) 50 cm? (C) 64 cm? (D) 48 cm?

48. €51 9fq o (&1 10 (5., | 9IGR CFarrel (72
(A) 100 5.2 (B) 50 (5.2 (C) 64 .[N2 (D) 48 (5.2

48. G515 FefCRCas 910 G | ofcwralbe ifer =1 ¢
(A) 100 @1f.2 (B) 50 @if2 (C) 64 (L2 (D) 48 if2

48. HIFY S @' Bi@ie 10 9.4, | o s Hifern -

(A) 100 9.f7.2 (B) 50 &.fa.2 (C) 64 9.2 (D) 48 &.fa.2

48. T o1 1 faevl 10 A 1 A 1 &R ©

(A) 100 HHR2 (B) 50 &2 (C) 64 GH2 (D) 48 G2
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49. The square of a smaller number is subtracted from the square of a larger number and the result is
equal to the difference of the larger and the smaller number. The sum of the two numbers is :
1
(A) 0 B 5 © 1 (D) 2
49. (I B! FRAE TIEICHR 919 2I]1 FRCHR 3979 N K9t SR Fetismet A2 1HI9 AL Wi 270 | iR
VOIR CI9Te (20R ¢
1
(A) 0 ®) 5 © 1 (D) 2
49. @35 ITSF TR I (AT SNEF0 Forod TR 5/ RN T T G FoANFeAD J2&d G Faod FRA
AT AN siveT | R 9o o == 8
1
(A) 0 ®) 5 © 1 (D) 2
49. WY R AT ST A fRiEe st setel g s, faf S o et e fR
AT Wl T | S J S ST
1
(A) 0 B 3 © 1 (D) 2
49. Tl < demsl ° Q@ S GEn & o 99 Y@ & o W S Sl § SR o SHi Sl & id &
TR A1 € | S HEAS T 1 AR
1
(A) 0 B 3 © 1 (D) 2
50. (x2-3x—4)=(x+1)=? (x#—1)
(A) x—4 (B) x-3 (€ «x-2 (D) x-1
50. (x2—3x—4)+(x+1)="? (x#-1)
(A) x—4 (B) x-3 <G x-2 (D) x-1
50. (x2-3x—4)+(x+1)=? (x#—1)
(A) x—4 (B) x-3 (C) x-2 (D) x-1
50. (x2—3x—4)+(x+1)="? (x#-1)
(A) x—4 (B) x-3 <G x-2 (D) x-1
50. (x2—3x—4)+(x+1)=? (x#—1)
(A) x—4 (B) x-3 € «x-2 (D) x-1
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51. The remainder when 2° is divided by 5 is :

(A) 0 (B) 6 © 2 (D) 4
51. 2035 (3 239 SR A CoIeE 29 ¢

A) 0 (B) 6 © 2 (D) 4
51. 20 (F 5 @R Sl9l FCe1 SRS ACH 2

(A) 0 (B) 6 © 2 (D) 4
51. 26 5 S TS AT TG STTeT

A) 0 (B) 6 © 2 (D) 4
51. @ 26 o1 59 fauifad foran €, 9 Suewel 21 @

(A) 0 (B) 6 © 2 (D) 4
52. The value of /1849 is:

(A) 33 (B) 43 (C) 53 (D) 63
52. /1849 I W (X(Z ¢

(A) 33 (B) 43 (C) 53 (D) 63
52. /1849 <9 Wi & ¢

(A) 33 (B) 43 (C) 53 (D) 63
52. /1849 9 HM -

(A) 33 (B) 43 (C) 53 (D) 63
52. /1849 HIHM R :

(A) 33 (B) 43 (C) 53 (D) 63
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53. The fractional form of the recurring number 5.121212 .. .1is:

n 37 o 57 o 5 o 57

(A 5o B) 59 ©) 5 D) 59
53. (STl AN 5121212 . . . T SAARH T (07 2

n 37 o 57 o 5 o 57

(A 5o B) 59 ©) 5 D) 59
53. SIIF© AWAN 5121212 . . . €7 SRR Tl 2

a3 5 37 o 5 o 507
53. STeRITGAAE SHSHET 5121212 . . . [ @@ 784 -

a3 5 3 o 5 o 57
53. STl GE&A 5121212 . . . T Fy=ede w9 €

a3 5 3 o 5 o 57
54. Addition of two Roman numbers XIV +1V equals :

(A) XXV (B) XVIII (C) XIX (D) XX
54. VoI SIS A Q@oee XIV + 1V 022 ¢

(A) XXV (B) XVIII (C) XIX (D) XX
54. Wb G AU XIV + 1V @3 (91T 2

(A) XXV (B) XVIII (C) XIX (D) XX
54. T WH SERNE XIV + IV @ ISTeiree 7 /I ?

(A) XXV (B) XVIII (C) XIX (D) XX
54. < AT FEASA w1 A XV +IV E :

(A) XXV (B) XVIII (C) XIX (D) XX
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55.

55.

55.

55.

55.

Two numbers are in the ratio 3 : 4 and their sum equals 49. The two numbers are :

(A) 16, 33 (B) 18,31 (C) 21,28 (D) 24,25

CRRICTI 401 P41 3 : 4 SRIIO® (R O FReq [@Iee (202 49 | 74T 401 24 ¢

(A) 16, 33 (B) 18,31 (C) 21,28 (D) 24,25

i 2T 3 : 4 SHAICS SN 3R SR (AT 267 49, TR 96 = ¢

(A) 16, 33 (B) 18,31 (C) 21,28 (D) 24,25

TR STARTHIN TS 3 : 4 TR fIERM SSTermE 49 | STARTH AF-1 STem -

(A) 16, 33 (B) 18,31 (C) 21,28 (D) 24,25

YW 3:47%F I H € SR SR AT 49T 1 I T T €

(A) 16, 33 (B) 18,31 (C) 21,28 (D) 24,25

56.

56.

56.

56.

56.

40% of 60 when added to 60% of 40 would result in :

(A) 40 (B) 48 (C) 60 (D) 64

609 40% I CACO 40 T 60% (5! FRCeT FoNTe] 2F ¢

(A) 40 (B) 48 (C) 60 (D) 64

60 € 40% @ AL 40 GF 60% (1T FCT TP =S ¢

(A) 40 (B) 48 (C) 60 (D) 64

60 9 40% B 40 7 60% ST TTSTToeAT ST :

(A) 40 (B) 48 (C) 60 (D) 64

60 H | 40% T 40 H ¥ 60% H Sred R 4RO I BT

(A) 40 (B) 48 (C) 60 (D) 64
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57. Let all the months of a year is of 28 days. If January 1 falls on a Monday, then April 28 will fall
on a:
(A) Friday (B) Sunday (C) Monday (D) Saturday

57. 4 (&R T (@ OB 71 AN W2 28 e g& =1 T 1 SERSIE MG Gk 27, (o0 28 «ftie|
ROESE
(A) ST (B) @R (C) IR (D) =

57. 43 I%@A 9 30 28 e | I 1 Sieaifd (TR 230 3 28 @fes 203 ¢
(A) ST (B) s (C) @IEE (D) ===

57. THAM & S SR MHE SR 28 WHA’ 9/l S 1 STHaREnd Ser Trerr 16, 28 Thearta @
ST ?
(A) HAR (B) fsm (C) HHIR (D) wfeR

57. O we ad & weft wfen 28 fei & @1 ¥ 1 afg 1 S Bl @ar gedn €, O 28 ST i IS
(A) gehaR (B) fer@R (C) EHER (D) IfaR

58. The total interest accrued on a Principal of I 1000 over 1 year at compound interest of 10% per
annum compounded 6 monthly, is :
(A) T105.20 (B) ¥ 102.20 (C) T 102.50 (D) ¥ 105.50

58. i 6 Iz IT© b@qia 77 fZpR SR TR 10% 5T o9 @ T 1000 JF4E 1 979 IS Gl (21 2
o 2ffe (207 8
(A) T 105.20 (B) ¥ 102.20 (C) T 102.50 (D) ¥ 105.50

58. 1 IR W& ERA T 1000 91 THR AIART 10% b@gia 2cH Al 6 W bagiate ARajEre Jord #Ifse
e ¢
(A) T 105.20 (B) ¥ 102.20 (C) T 102.50 (D) ¥ 105.50

58. %1000 T T SRR 10% 8K 1 SERM IREs™ 98 g, e Inmem ge@t 6 SR @@ -
(A) T105.20 (B) ¥ 102.20 (C) T 102.50 (D) ¥ 105.50

58. HA¥F T 1000 W 198 H 10% T I & Tohglg AT W 6 A =shdfg AN Sed T 35 Hel A

T
(A) % 105.20 (B) ¥ 102.20 (C) % 10250 (D) ¥ 105.50
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59. If the Minute hand of a clock traverses an angle of 180°, the angle traversed by the Hour hand
during the time is :
(A) 20° (B) 5° (C) 10° (D) 15°
59. I 96! GGIF [F6I FI6! TG 180° (19 NOTH F(F, (ST U TS GO ol TIte] oy T (el
[
(A) 20° (B) 5° (C) 10° (D) 15°
59. M @30 TG FIFTER FI01 180° (Fidl S0 I, O G2 IR T(& IR IO 21 S T (&’
T3 3
(A) 20° (B) 5° (C) 10° (D) 15°
59. =i fafte smaEfemn i 180° @1 ST, Sl ST o HHE J9el @ |1 ST ?
(A) 20° (B) 5° (C) 10° (D) 15°
59. fg et st o0t fame &t € 180° 1 IVl et §, A1 39 SR S i GS §RI SHMET 71 0T T
(A) 20° (B) 5° (C) 10° (D) 15°
60. If mis a digit and the number 46 m 23 is divisible by 9, then the digit m is equal to :
(A) 1 (B) 0 © 5 (D) 3
60. WM m @S GBI ST R T 46 m 23 AT 9 (7 ROIEy 2, (SCT m I A A 23 2
(A) 1 (B) 0 © 5 (D) 3
60. W m AwfeT G0 O=F T G 46 m 23 FAIT 9 AR oIy =, O m = (G 7 2
(A) 1 (B) 0 © 5 (D) 3
60. S m 3T HFY WHSHET 3R 46 m 23 SHNSHRET 9 S TS, 3TeeT o STASHE Se -
(A) 1 (B) 0 © 5 (D) 3
60. afc m T YUTEH 1 Tk 37k T 3R H&A 46 m 23,9 ¥ fausa §, A1 3feh m TR T :

(A) 1 (B) 0 ©) 5 (D) 3
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61. Which country is known as the “Land of Rising Sun” ?

(A) China (B) Japan (C) New Zealand (D) Indonesia

61. (LA Ol TR T (71 Fol Tere 2
(A) B (B) il ) Fefeers (D) et

61. (I ot “TRITI o o e Afifoe 2
(A) BF (B) Sl (C) Fefemme (D) BCwiCrrI

61. o TEL@! " GH ST Y A IS ?
(A) =H (B) UM ©) TR (D) < g

61. o <o 130 IS AT W' FH TH Y SE SO S 2
(A) == (B) ™ (©) sicte (D) ESTfREn

62. In which field did Bhogeshwar Baruah excel ?
(A) Athletics (B) Swimming (C) Badminton (D) Football

62. (SIoMF IIQIZ (PG (FqS Aol oS SR 2
(A) @G (B) Aftelm (C) @G (D) o=

62. (St I (I CFF0q AR 2
(A)  SHIRCETH (B) dfelm (C) TreRT (D) T

62. YAIYER FEAT 99 fIRME STRET-HRaTHIA ?
(A) TAfT (B) HHfEHAM (C) wsfi=ed (D) Fdad

62. YNITeR s%aT A fhe &3 H Iepte el fohan ?
(A) TdfeTm (B) TRt (C) defHen (D) Feara
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63. In Assamese literature, who is known as “Ekhud Kokaideu” ?

(A) Nabakanta Baruah (B) Medini Mohan Choudhury

(C) Kumud Chandra Hazarika (D) Kamalakanta Bhattacharyya
63. PRI AMRGT® “Gyn FHBMS” A T Gl AR 2

(A) TRIIE 371 (B) el = (H1YS1

(C) TIb™ TE (D) ITARIE ©HHR
63. SPTIRI ARCY (F “Qyv TR A 2ifdfoe 2

(A) TG I (B) AWl GRII= (oI

(C) T bH TGS (D) TG ©GHIR
63. 3TEMHAT YAcZeTE W@ ¢ TEe & 'FEed’ e fafer 2

(A) FER TXdl (B) Tfet aeq T—,ﬁg’ﬁ

(C©) PR == T T (D) HHATRI HETETH
63. A Aifecd H ' TS FhEes’’ & AW 9 fRE S S § 2

(A) TeeRId T (B) Hfet Hiew =erdt

(C) YT =g ESIlLehl (D) YR =
64. The first modern Olympic Games was held in :

(A) Athens (B) Paris (C) London (D) Berlin
64. AT IYFF SAIE (U1 'S SRS (2R 2

(A)  @re (B) (= (C) @ew (D) aIfetq
64. A TYfTF SfeTfoiF Tiol SeFe 27 ¢

(A) @2 (B) =mifa (C) = (D) aifefq
64. 3T Fifafa o1 'fafigen seReE= @1 SEmE ?

(A) T (B) ufw (C) wved (D) e
64.

T MR 3l T el ST v T 92
(A) U™ (B) uf (C) oA (D) dfeiq
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65. Which country was involved with India in the Doklam incident of 2017 ?

(A) China (B) Afghanistan (C) Bangladesh (D) Myanmar
65. 2017 bel< TN TG GO (IS (I (74 &0 Nifeet 2

(A) B (B) =Bl (C) eIl (D) U
65. 2017 IS (OIFIIN Fo ©IFCSH 0% (Fle (7] &fge e 2

(A) & (B) SIS (C) T (D) SRR
65. 2017 HAAEH ShHAH ST el TG0 TSI TSRS ?

(A) = (B) SMEMEM  (C) dielew (D) HHR
65. 2017 H Siehci™ ¥ § A & TN HF A S0 A o1 ?

(A) = (B)  STHIITT&AH (C) diTerew (D) =R
66. Which of the following is highest, among ranks of the Indian Army ?

(A) Brigadier (B) Lieutenant General

(©) Major General (D) Lieutenant Colonel
66. SO (W ARPREI fowss FRfARS (WG AW v ?

(A)  faeaifeas (B) (FTF(OGD (SICI(SET

Q) CT&R (IR (D) TFOES el
66. O (P CIISR EWRIEA ~eRmISE S A 2

NIRSKICRIE (B)  (STRUHIIG (IR

(©)  CreR (EeIeset (D) GTRRGIIG I
66. TETAM e/ HRAM C@TTY Sl ST o ?

(A) fomfear (B) ehd Sd

(C) TSR I (D) AHAI= HAd
66. frefafad § ¥ HH AR 91 6 (i § Fard ¢ 2

(A) forifer (B) e SMRd

(C) TSR S (D) iffec wAa
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67.

67.

67.

67.

67.

What is situated at the confluence of three streams Sandhya, Lalita and Kanta ?

(A) Vasistha Ashram, near Guwahati
B) Ajan Pir Dargah, near Sibsagar
Malinithan temple, near Silapathar

Garampani hot water spring, near Golaghat

T, FAfeTol W FIV! FANF [SH6 THALIT FARATZAS (FCo! SRFS 2

A)  RRGR TR I S
RIEIoIRE AT7T e T w9l
C) oeMvuRT TMeE et S e
D) (SNEIQiBa SNI9F sl T &el ©F

=

1, FfeTel, FW G2 oAb ST 2RI FTFIZE SRIZS ¢
A) DA FF6aS! AT o

B) RReTeIER MI5S! el ST wRell

Q) fRetisitelicaa oo ! Niferzim g

D) (SNEMQICER ool sl Tae o

~—"

(
(
(
(

T, AfAdT ST STl ST AR ST e sein < 2
(A) S8 engH, TETErEl rafeEre

(B) M YR TUME, THENR Araferre

(C) wifaftem af<y, faemmiem A

(D) TREY TG § G, TTHe S e

e, SAferar SR shian dF STAeriStl & T ) g § 2
A) afrS e7gm, TARET & 9™

B) 35T YR SUME, ™R & 9|

C) wiferte Hfew, faeraer « 9|

(
(
(
(D) TRHUT TH UM % S, AT & 9"

Paper-1/ C 33

P.T.O.



68. Sharp pointed teeth inside human mouth are called :

(A) Molars (B) Canines (C) Incisors (D) Premolars
68. W2 Y2 oo 4 (BIF, (Slel Mo (JleTl 23 2

(A) (T ve (B) (=FW© (C) JITwlre (D) @07 ufe
68. I LI (T LI 7 WO o1l 2 8

(A) o9 nf® (B) (= M© (C) FTEIAre (D) SaCRe wfo
68. THAM GMASTE UMM SHR SIUEE! A B 2

(A) BRI g™ (B) T (C) T Bd™ (D) T eri grem
68. TIH % g % 3G Tohicl Jial I el ST & -

(A) =i (B) &TH (C) Fd=® (D) 3T weih
69. The national flag of which country features a dragon ?

(A) Bhutan (B) Singapore (C) Japan (D) Myanmar
69. (TN (TR STS AR (GOl 2R TR 2

(A) O (B) feoMisfs (C) @i (D) ST
69. (P (O SIST SIS GlolCd 2 g 2

(A) OB (B) PErs= (C) @lo (D) SR
69. 99 T Rfhemae § § 2

(A) (B) fEmR (C) < (D) THER
69. o T & T el W T SHfehd § 2

(A) Y2H (B) TR (C) S (D) MR
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70. Harihara also known as Hakka, and his brother Bukka Raya, founded which kingdom ?
(A) Chalukya Empire (B) Vijayanagara Empire
(C) Chola Empire (D) Hoysale Empire
70. T ANRE 25T 2T O (967 ©Ip 37 AT (A AT o) Fhifee 2
(A) B[R AHEy (B) Rezmem ey
(C)  ColeT Sy (D) T2l ASey
70. 2w R 2@ 9w +ifve 3k ©r SR 3@ I @i e’ el sEikee 2
(A) DR ey (B) Rerms= wiey
(C) (b1 Ay (D) T2 Ay
70. TRER, ST TIh1 SFAHE RS, TR faf ther geeht T, 96 TESiE! MEHAe | ?
(A) T AHIIS G EREEREUESIENRE]
(C) e TS (D) TSI TS
70. TR, 9 A1 & T8 § ff 1 S R, SR ST A Joweht T 7 fohd THSA i TG Y ?
(A) =TI HHA (B) oS R 94
(C) =il HHA (D) B THRI
71. Ason 15t of January, 2024, who holds the portfolio for External Affairs in Narendra Modi’s Council
of Ministers ?
(A) Dr. Subrahmanyam Jaishankar (B) Smt. Nirmala Sitharaman
(C) Smt. Smriti Zubin Irani (D) Shri Kiren Rijiju
71. 2024 519 1 & SERIST ACACT T@" (MR TG 2Ifare @i AREwIT wed IR 999 1% SR ?
(A) o O GRHET (B) @rrs! fsfent ol
(C) Errst fe g 2[4 (D) & facaw f¥ferg
71. 2024 &= 1 =0 SRR ACACE @ KA @1 AR @eriie [REIes weEww vikeg 3 ke 2
(A) T IO TRHER (B) @RrS! fsfat etz
(C) &St gfe g =i (D) &\ faczw fRferg
71. 2024 AR 1 A WIfArad 9= J6iH A9 SRR YRR Sresi SgsTR e foem1 SR S 2
(A) T GAeI0IH SR (B) et faefet Hiareon
(C) dmdt wfa Jfe sut (D) & =i RSy
71. 1SFad, 2024 1 g W&l 1 GHOREE § foae Harea &1 99R foes aw § 2
(A) <. Y=g SIHT (B) Al e Hiareu
(C) it wyfa Jfem st (D) t fooa RSy
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72. In which Continent is the Amazonian Rain Forest found ?

(A) Europe (B) North America (C) Africa (D) South America
72.  SNGHS R (@FHL TS SHES 2

(A) TT@ (B) TewElwRF  (C) = (D) Wi SICT Rl
72, SINIGH B (I TR0 SRES 2

(A) BT (B) TwwiGfid  (C) (D) wfEFel S
72. SATHISH 31T AT I SRS ?

(A) 33 (B) W - sMmRe  (C) 3TfRaA (D) @I - SRR
72. 3THSH i 991 9 9 e # §?

(A) I (B) WU s (C) SAHIHI (D) <faor TR
73. Sunlight helps in producing which Vitamin in a human body ?

(A) Vitamin C (B) Vitamin B (€) Vitamin D (D) Vitamin A
73. S (AR AR S (@R [SHIRR Terivee 7gE G 7

(A) feBIfm C (B) feBIfE B (C) febifim D (D) Bt A
73. IR Sl AR (T FOBIfe (o1 FCS 2R T 2

(A) feBifim C (B) T B (C) febifim D (D) feBifE A
73. A EEE SEge 96 e IR ?

(A) fqaf C (B) T9aify B (C) Ty D (D) f9arfiT A
73. 9 &1 Y™ AME IRR H foRy faerfia & Scured H Heg T § 2

(A) feer C (B) feerfda B (C) faafqa D (D) feerfda A
74. What is the currency of Indonesia ?

(A) Ringgit (B) Dinar (C) Rupiah (D) Shilling
74. FYERN J@F % F 2

(A) fefG (B) T=lm (C) = (D) fifere
74. SCWIERRR @ FT 2

(A) fafre (B) == (C) =nfsfxl (D) fRifere
74. 3= AfgE @=ien =42

(A) Rfim (B) fear (C) T (D) fufd
74. SSHTIAT 1 a1 AT 7

(A) Rfma (B) TMR (C) =fu=n (D) Tferfeim
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75. The highest gallantry award of Indian military during war is :
(A) Maha Vir Chakra (B) Param Vir Chakra
(C) Ati Vishisht Seva Medal (D) Ashoka Chakra
75. T&S TS OO ANEE iz A TG 61 (TR
(A) T IE O (B) RN oF
(C) wfs RS @Rl 7w (D) SIC¥IF b
75. TR TN SRS ANETF AT NS Tirg 7750 297 ¢
(A) =T (B) RN F
(C) wifs RS Rl GIws (D) SIC¥IF b
75. STER-HHE YRATR QAU g Shfea FRre s e -
(A) HeIfeR <5k (B) T R =k
(C) afq fafire |an A (D) AU =k
75. Iq§ % SRH ARATT Y1 hl Faite SRAl IR T :
(A) WEER <5k (B) TWAR =k
(C) aAfa fafere Fan we= (D) 3TN =k
76. What is the name of the statue placed near Sardar Sarovar Dam in Gujarat ?
(A) Statue of Liberty (B) Shakti Vajra
(C) Statue of Unity (D) Shanti Stambh
76. TR SIS ICERE AHA IS Fiol F41 AfSfEeoR 1w & 2
(A) By o s (B) *f&e3g
(C) (3py o LM (D) =% e
76. TR TR AR 0 Ficg e 7 15 F 2
(A) o o il B) =fe<g
(C) BIIy = 2B (D) =ifEws
76. TORIAH TRER TR 'R A< WfEme @i SH™ @t g1 11 ?
(A) VW dAF faere] (B) wf Wt
(C) w=g % 3 (D)  mf oy
76. TORIA H TIER TS =ie & I L1fad FfqdT 1 o= - & 2
(A) V= 3w faadt (B) If® o
(C) = ATE el (D) wifd &4
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77. The Ramcharitmanas was written by :
(A) Kabir (B) Veda Vyas
(C) Adi Shankaracharya (D) Tulsidas
77. IGO0 9 [IEANF] (202 ¢
(A) FR_ (B) @M
©) it Wit (D) geTAmA
77.  FVBRFENT &1 FEG 3
(A) W (B) WA
(C) i ===Is (D) wePTm
77.  THERTEARGE R A 2
(A) HR (B) o &M
(C) i W= (D) qafee™
77.  TFERGErE S feran wan on
(A) HER (B) & =IH
(C) 3T TiT=m (D) dodie™
78. Which of the following Novels was written by Kanchan Borooah ?
(A) Mrityunjoy (B) Oximot Jaar Heral Xima
(C) Ontorip (D) Asol Manuh
78. xRS @A Toimrst Sl 79412 o FiRfRe 2
(A) TG (B) SPITS [ C2IE STl
(C) TSI (D) II6&T TR
78. SIHA (P ST Fieee 0 fercices 2
(A) TG (B) SRINI® AR (A A
(C) I (D) II6&T IR
78. TR 99 Hel HRA! FHi-eH a%an ferm ?
(A) oI (B) e SR T« famn
(C) 1=y (D) 39d |8
78. Trafafad § 9 SHA-91 SU=E s 9%eT gry forar man o ?
(A) TG (B) 3THIYA SR B HH
(C) ofadu (D) &AE AT

Paper-1/C 38



79.

79.

79.

79.

79.

Which of the following movies was not released in 2023 ?
(A) Jawan (B) Animal (C) Pathaan (D) The Kashmir Files

fRfefe @4 5eTbog 2023 bl (& (o1 Tifee 2

(A) &I (B) @fTsa (C) =t (D) W IR FizeTg

TIBR (@I BeIooalt 2023 A e AR 2

(A) TeT (B)  SHIfsya (C) st (D) W SR FZe

MM o9 YEYTE! 2023 HELTEAE TRA™ SR 2

(A) S (B) U« (C) A (D) ' ¥R "™
frafafea § @ R-9F fhew 2023 # fRefis 721 g8 ot ?

(A) SEH (B) ufHa (C) WM (D) T eI HiEed

80.

80.

80.

80.

80.

Rabindranath Tagore was awarded Nobel Prize in Literature for :
(A) Ghare Baire (B) Gitimalya (€) Gitanjali (D) Gora

(! 6T AR I FFE AR (I 61 o7© ST 2

(A) WEIARE (B) Moy C) Meigl (D) cotal
AT IIFR AR (R 2T S FERER (T 0203 & ¢

(A) WEARE (B) Moy C) Meigl (D) con=l
IEY AFH YAAE ot TG A’ AT g S 2

(A) =R AL (B) farfeemeran (C) Tirar=reft (D) T
Tty R 1 g Ffa & fore wfeca & eer QR & gefa foman o en?

(A) B N (B)  TifHIe™ (C) Tirdisifer (D) T

81.

81.

81.

81.

81.

Who conferred the title of Kalaguru to Bishnu Prasad Rabha ?
(A) Rabindranath Tagore (B) Bishnuram Medhi
(C) Subhas Chandra Bose (D) Sarvapalli Radhakrishnan

RReeln el Fenwd ToAlfy (it avie SR 2

(A) ST IS (B) fream Gif

Q) ISR vm I (D) AT TS
f2e 2P AreicE Fenes Tallfd (& frcafecem 2

(A) I S (B) e cwfa

(C) “TeRbE (D) ! AR
“rarTe’’ fa @t fae yaTe qaE WR S ?

(A) o= T e (B) forum Afy
(C) | == o™ (D) Haucd! THFHIM
ToTo0] TR T BT HeIR[E hi IMY Tohe < 2

(A) T TR (B)  foroom Aeft
(C) |o™ &g o™ (D) Heeel! YHHIH
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82. Which of the following is responsible for converting milk to curd ?
(A) Actinomyces (B) Lactobacillus (C) Fusobacteriota (D) Malassezia

82. MVTT M ¢ Follwiee S99 (haqe RIS (SRR gl azd 01 2

(A) «ffmmize (B) (@TFEbeR (C) TIREEWGI (D) W&o
82. IHA (TN FACF WBCS FATTER Sy Wil 2

(A) oOifSEmEP™  (B) sURGRIPE™  (C) FEIURFRGRES (D) sheeifem
82. TR SHM™E Il Tﬂg@'{'@ HIELCEHICIRS I B ?

(A) TRAmEE"  (B) weRWfEa™m Q) wEWOEREE (D) wefsEn
82. T &I <& ¥ dee & foru fr=fafea # & &9 iR €2

(A) TRAmES" (B) RSIfHTH (C) HEEREIRART (D) WS
83. Which sport is the Davis Cup played for ?

(A) Badminton (B) Table Tennis (C) Lawn Tennis (D) Cricket
83. (TfCR o (RN (L[ AT (L&l 27 2

(A) @R (B) (BT (Bfz (©) W of (D) f&=s
83. (I FIT (TfoA Fo (4e7 27 2

(A)  JCRDT (B) (GR& (B (C) &= (G (D) [0
83. Sfod HE! 79 ICEARA™N AREw el ?

(A) wefged (B) o <9 (C) =+ = (D) Toee
83. <fow #u forg Wal & fow Wen Sran €2

(A) St (B) <od 9 (C) o f= (D) fohehe

84. August Kranti with “Karenge Ya Marenge” slogan was related to which movement for India’s
independence ?
(A) Non Cooperation Movement (B)  Quit India Movement

(C) Khilafat Movement (D) The 1857 Sepoy Mutiney
84. “IFRR(A T WELE” GNANEE TR FIfE SIwed FIFTOR (S T (FC! SCHENR 00 TH (S 2
(A) SPIRCE SR (B) ©N© Ojlal S
(C) TReree SN (D) 1857 51 fooiigl Rmiz
84. ST TR “FCACH T AR (RN ORCSR FITTOR (T SN AL T=F© feat 2
(A)  SPIRA SCHIeT (B) SIF® QT AW
(C) fReTwe SNwEw (D) 1857 @7 Pii%) ez
84. ‘'O STt A’ TR AT SANTS fommerdren se WrHTaERARS| S € ?
(A) THSTERIN GHEHIA (B)  YRd TRTRAT HHETHA
(C) facwd FHEEAE (D) 1857 A U foumram
84. ‘' A HE' AR K WY VT Shifd ARG hl A o TaTQ fohe STISIeM 9§ Gaifed off ?
(A) THSIN Qe (B) ¥Rd BIel 3AigreH
(C) TEaThd S (D) 1857 =1 fourdt fose
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85. Which of the following is a non-renewable source of energy ?

(A) Wind power (B) Hydropower (C) Solar energy (D) Fossil fuel
85. RIS Mpea (A *Ifex S aei ey T ¢

(A) e (B) e (C) e (D) GR35
85. b (TG SR *ifew T 2

(A) AP=fE (B) wwiRmefe  (C) CMW=f@ (D) G Gl
85. TR Jo Wl RIS T ?

(A) @R - sel (B) - @l (C) ¥ wifer EEEHER
85. frafafed & & #F-a1 et w1 - i €2

(A) T Sl (B) e forea (©) drF (D) Siaren f
86. Which of the following is NOT an IPL team ?

(A) Delhi Capitals (B) Gujarat Giants

(C) Sunrisers Hyderabad (D) Lucknow Super Giants
86. TR To[2d (P! SN2fHI9e wel = 2

(A) T &b (B) ®TRIG TIETR

(C) FMIZEIE FEWEIIT (D) I ZAR SR
86. IO (P SR A a1, wel =17 2

(A) Tl Fif(GEm (B) TR SIDA

(C) AmaizEn ZRmRm (D) CH IR SIRGH
86. TREM we WG o778 4 v 1 el =T ?

(A) Tt shftdes (B) TSI SETAH

(C) HMUESIRH BEIER (D) dETS AR ST
86. TrAfcfed # @ HH-H 318 & Tt 219 & 8 ?

(A) fooett wfyeed (B) TSI SIE<H
(C) TS TSR (D) oES GW SEH
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87.

87.

87.

87.

87.

Saptakanda Ramayan was written by :
(A) Horibor Bipro (B) Madhava Kandali ©)

Fgpre e @i ffafes o

(A) === e (B) ¥ FWfaT Q)
NGFS FINF Toe FCARE 2

(A) =R (B) &R Il Q)
THUE THFTE IR T e ?

(A) R fay’ (B) IS HUSTH ©

TIHIvE TErYr fohaer g foret 8 of ?
(A) TR fay (B) ¥ whafa ©)

Ananta Kandali

ST T

ST FH(T

A0 HUScl

3Hq hefd

(D) Hemo Saraswati

(D) (TSl
(D) (2 FHS!
(D) 30’ 9!

(D) ¥H St

88.

88.

88.

88.

88.

Which of the following statements is incorrect ?

(A) Thomas Alva Edison was deaf.

(B) Apple is related to discovery of gravity.

(C) The brightest planet as seen from earth is Venus.
(D) The chemical symbol for sodium is Sd.

fT=fEies (@G Ofe Swg 2

(A) AR SETe! «fhe afeT wifeet |

(B) Wigiel 1 ST (TCS SA2FT T=9F Sz
(C) T »[l @2l WHEeT Tege! ARG GF |
(D) =GR IS B! (2= Sd |

Tieoa (i Kol =g 2

(A) T el «fSo e fogem |

(B) SIS Siapiseslel SNREIER AL 754 |
(C) T e (AT (T2 FRGE Sege 9T |
(D) ISR IS 2SI 21 Sd |

TerTe B & fagfern o) T ?

(A)  IH ST TEEA T S |

(B) SRTTEMT W1 BTG STUa et e < |
(C) Ik TR a1 FHMHHE TeEME SAgE SiEd U8 |
(D) wfeamfy qamEf fefufom sd |
frefafed § 9 SH-91 ®eH e § 2

(A) oY 3o Tedd o=l 9 |

(B) U 1 WY THRUY i @S ¥ T |

(C) gt ¥ W1 M ATl Had THehIE U Yok ¢ |

(D) Wifeam &1 TEEMAH Fdieh Sd T |
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89. Near which town is the Da Parbatia gate located ?
(A) Tinsukia (B) Tezpur (€) Silchar (D) Barpeta
89. (T 5ZIT MiIsf® W 2RO (Ol ST 2
(A) gt (B) (&[T (C) e (D) Sl
89. W oSIT QT (I WA FIZ O(EFS ?
(A) Ty (B) (&7 (C) Tema (D) 3R
89. 7' TeIdId aX@ 31 wrel AN Wferel § ?
(A) fagfeman (B) WNY (C) foer=R (D) =T
89. T vafdan e fohe et % I feed 82
(A) fagfen (B) WNL (C) foer=R (D) =
90. Which of the following places of interest has been recently included in UNESCO World Heritage
Site List ?
(A) Charaideo Moidams (B) Batadrava Than
(C) Poa Mecca (D) Sonai Rupai Wildlife Sanctuary
90. TS @G T T FRSRT WEER [ @fsy oFag viffere swge 41 (2022
(A) BRIES CW@I (B) 5wl A
Q) colRl S (D)  GIeliE FoA1Z Il Sreq=ely
90. fxfe ST Felm S @R TS Tores e AfezRIR 2R e Tuve g ?
(A) BRRME N2 (B) 5@l AW
(C) (r W= (D)  CTIIZ o120l Sree]
90. Srg T dreiiens, fafamii s sifgarik swe (UNESCO) SgHHl SR S ®iikergsTd MermeE
EERECE PHICIREIRERIEES I
(A) =T HSM (B) el UM
(C) T'al Herhr (D) §'9TE ®UE AR &7 gwm
90. frefafed d & frg st Toret sl 2t & | AR (UNESCO) forear forrerd woret =it | snfher feran mn

7?2
(A) =SS HiESH (B) Sl oA
(C) e weRhT (D) UFE &UE I=AS1d STHIRTT
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91. Ason 1%t of January, 2022, which of the following is NOT a (administrative) Division of Assam ?
(A) Lower Assam (B) Barak Valley
(C) Hills and Central Assam (D) West Assam
91. 2022 3HF 1N GRIST ACATE RS (FEG! SO (HHS) ARG T2 ?
(A) S ST (B) A Lol
(C) ey @ &y SET (D) =I5 ST
91. WIF (D 2022 «F 1 ST ACATE SPICR (2HTF) FRASE T 2
(A) 5 =P (B) JAIT T
(C) ey @ &y =ET (D)  =If*5s SpTs
91. 2022 HEATEM 1 STIARI WA TMEEH To@ STHEH (GoUEam) sRr 1T ¢
(A) TR HH (B) oIk T
(C) @i TR SRR ™ (D) & TEH
91. 1 SHad, 2022 ! FeAfcfEd § § i |1 ST9H 1 (FRMEAR) T 7@ 8 ?
(A)  TH=en e1Em (B) &I el
(C) weIfeal iR wen 31|H (D) ufgem stEm
92. Origami is the art of paper folding that originated in :
(A) China (B) Korea (C) Japan (D) Cambodia
92. e ©ig TR T WA Tewife Rb o i ¢
(A) (B) cf (C) Tl (D) Fcaifea
92. il 2o GSfs ore i s Flw Tesife zeafes ¢
(A) (B) cifz (C) Tl (D) cifea
92. AR TR TEHH o foare o e M wE e |
(A) = (B) =fZa (C) <M (D) %l 'fean
92, TS HIe i shell SATETHT it St form oo & g8 o -
(A) = (B) =il (C) A (D) sheifen
93. In a family, the sum of the present ages of the father, mother and the only son is x years. Aftery
years, the sum of their ages will be :
(A) 3x+y years (B) 3 (x+y)years (C) x+y years (D) x+3y years
93. &b ARAETS oIy, Ty ST GFNG 7@9 T TP Y2 (911 ¥ LT | y T 120 (O E T ROPTRI
I (AP T 2
(A) Bx+y3I=F (B) 3(xt+y) =S (C) x+y3I=R (D) x+3y3=F
93. @b ARRIE GFeH o1l Tel G GFNG 2[(q7 TS FCR (N9 x T |y I 7 I INER (9T
3 ¢
(A) Bx+yI=H (B) 3(x+y)I=R C) x+y3A (D) x+3y =
93. TforaTee WY 7 eI fohl, fom TR framantT S=ist 19 x SER |y SERM 3 foear S
TSR STTe -
(A) 3x+y dER (B) 3 (x+y) &R (C) x+y SR (D) x+3y SER
93. T URAR # i, AT SR ghelld 9 Y ST 3F B AT I8 €1y T % &G, Sh T H1 A0 ST

(A) Bx+y Ty (B) 3 (x+y)Td (C) x+y=d (D) x+3y T4
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94. Which of the following airlines does not exist anymore ?

(A) Spicejet (B) Indigo (C) East West (D) Vistara
94. RS @G [N 7R WEY TET 77T T 2

(A) “iiEveen (B) Zfwsr C) T =B (D) fommt
94. SIOA (I [N FFF O (@I wfFg (712 2

(A) % (o6 (B) Zfetan (C) 5 Sw@o (D) fomml
94, TR Sl foR@ I N SHf@mes e ?

(A) Y S (B) sf=m’ (C) =& o (D) fuem
94, Trafafed # & F- TRemRET o6 e | T2 82

(A) THEESE (B) sfem (C) ITWaW (D) fazm
95. Which of the following countries is NOT a permanent member of the United Nations Security

Council ?

(A) France (B) China

(C) India (D) United States of America
95. RS (@ (™ AR Faisiel 2w ZIE sSwop T2 2

(A) =™ (B) W

(C) wike (D) Sl J&1T
95. Iod @ (it Sriferkeaa f=isiar sifdama =i s /g 2

(A) &= (B) M

Q) eiFe (D) R T&=IE
95. TS B 96l SIS T3 T XWfY SARM H R 1T ?

(A) Hrd (B) =

(C) ¥rd (D) STHER S BeY
95. frefafad # ¥ S |1 <% T U GaT TRuS 1 TRl 968 T8 © 2

(A) wE (B)
(C) 9Rd (D) WIF TF TR
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96. Identify the next set in the series :
L3P, R4W, Y5E, G6N, ?

(A) O7V (B) R7W (C) Q7w (D) P7X
96. L3P, R4W, Y5E, G6N *R¥FANGR #7791 <20l forie 75 |
(A) O7V (B) R7W (C) Q7w (D) P7X

96. NS FbF TS| He2fe b HiTe T |
L3P, R4W, Y5E, G6N, ?

(A) O7V (B) R7W ©) Q7W (D) P7X
96. L3P, R4W, Y5E, G6N HIae Serel S e -

(A) O7V (B) R7W ©) Q7W (D) P7X
96. J@al L3P, R4W, Y5E, G6N, ? , H 3Tl ¥ ol Tgdm |

(A) O7V (B) R7W ©) Q7W (D) P7X
97. Philately is related to :

(A) collection of match box (B) collection of postage stamps

(C) collection of currency notes (D) collection of fountain pens
97. frICo A FH v ¢

(A) AGEZ PG ARET (B) TR TG kerg

(©) TaR I FReZ (D) FIGCHEA (o 72T
97. RFCBRER M F~oifFo 3

(A)  TRIEIE @7 A A<aE (B) U i @ Maz

(C) oICe™ @l kAT (D) el T (FIGLHA (o) QAT
97. T aefan At |l i 2

(A) W TR JIAA (B) =T fewhe g

(C) T ferets gYw= (D) WS U (YH) YA
97. frcteet forad Hefyq ©

(A) wi=" ot fesslt @1 9U7 (B) T feanel 1 9T

(C) T AR & 9UT (D) RA UH I HUT

98. Which set of letters would fill the gaps in :
MAK, LEL,[_| [ |, JoN, uo

(A) JKL (B) KIN (C) KIM (D) JLK
98. MAK, LEL,[_|_| | JON, IUO 7 & Zmoz R a0afonm =7 7R ?

(A) JKL (B) KIN (C) KIM (D) JLK
98. (I (ST MAK, LEL,[_[ [ ], JON, 1UO - @ wrfs sz =iof e

(A) JKL (B) KIN (C) KIM (D) JLK
98. TR e Bl YoYU TRl G 37 @WremH e - MAK, LEL,[_| [ |, JON, IUO

(A) JKL (B) KIN (C) KIM (D) JLK
98. el 1 | Tge MAK, LEL,[_| | | JON, IUO ¥ fism T &t wam 2

(A) JKL (B) KIN (C) KIM (D) JLK
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99. Total age of three friends - John, Johnny and Janardhan, whose birthday is on same day - is 84
years. What was their total age four years ago ?
(A) 72 years (B) 80 years (C) 78 years (D) 76 years
99. 0! Mere T (2Rl fof agi— ', &I I Siivers IX91 39 (A19127eT 84 I | BIfF T2 7I1d (€T
TR S @ e e 2
(A) 723 (B) 803 (C) 783 (D) 763
99. o7 3G - T, Tl IR ST, A(HR Srfney 42 et - (NG 93097 84 =7 | BIF T B9l ©IC (G I3 F°©
foat 2
(A) 723 (B) 809 (C) 783 (D) 769
99. HUM AMBRA - SF, ', SR, A S  HYIeH! - SEeT S 84 <ER | SERs fa
o srgen <1 9@E ?
(A) 72 9MER (B) 80 dER (C) 78 AR (D) 76 dER
99. T Il - S, AT IR S, e Sfed T € feA © - w1 Fad 37 84 9 © 1 =R o qRdt 3!
39 A ot ?
(A) 7294 (B) 80 TH (C) 78 ad (D) 76 I8
100. Which of the following is NOT of the same set ?
(A) Cash Payment (B) Mobile Banking
(C) Debit Card (D) Net Banking
100. =S 2T (FRG AT (9157 TS T 2
(A) 5w AT (B) CRIZE (AR
Q) (ERHIE (D) &5 &=
100. R TEle @ 992 (I 7 2
(A)  =5i7 B emis (B)  GIRIZe Figiae
Q) EReae (D) I WiRR
100. A &= T I ST ?
(A) e T S BAE (B) WeEA dfh
(C) <foe ar (D) e &
100. frfefad & SiF 1 Th & 99 F1 & © ?
(A) e qIaH (B) Hramsd Sk
(C) zfoe wE (D) e Sifd
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101. Which of the following words is correctly spelt ?

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
101. PR (G 2 A Y@ &2 =g 2

(A) Jeography (B) Jeometry (©) Jeopardy (D) Jeology
101, I (P (o5 A1 AfI 2

(A) Jeography (B) Jeometry (©) Jeopardy (D) Jeology
101. TR el Haef S 4R 2

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
101. Frfafed # & M @1 wes W o 9 fon T R 2

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology

102. If the code for WATER is 67 and for DRINK is 56, then the code for RIVER is :

(A) 48 (B) 98 () 72 (D) 35
102. M WATER & FTAL 67 =¥ DRINK F @ T A7 56 T, (908 RIVER F IE T F22A (302 &
(A) 48 (B) 98 () 72 (D) 35
102. M WATER €3 T HFS 27 67 b2 DRINK @3 T«f 23 56, O RIVER U S 2(J &
(A) 48 (B) 98 Q) 72 (D) 35
102. WATER 7 %21 67, DRINK 41 56, RIVER 11 &eT1 -
(A) 48 (B) 98 Q) 72 (D) 35
102. Ife WATER & feT i€ 67 & 3R DRINK % foTT 56 ®, oI RIVER & foi@ &re © :
(A) 48 (B) 98 () 72 (D) 35

103. Which of the following is different from others ?

(A) Ammeter (B) Perimeter (C) Altimeter (D) Anemometer
103. FIRMGEIRS 7721 (I SHEEOCT 7245 2

A) @R (B) cIfRfGI (C) wIfGRbR (D) @G ReE
103. TIHA (D SR (AT SeTml 2

(A) =iIfeE (B) ~UifafGE (C) ELRGE (D) SpifCIfGE
103. TEREI o TARRITHE S[&T -

(A) TAMRR (B) URfer (C) ufeefer (D) U TR
103. frfafad § ¥ wiH-91 gl 9 e g2

(A) THIX (B) WX (C) TR (D) TR
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104.

104.

Michael needs to go to university for his test. He started from the East and came to a crossing. The
road to the left ends in a Railway station, straight ahead is the Museum. In which direction is the
university ?

(A) South (B) East (C) West (D) North

B 2R AE RRRieTies TRk el | (98 A7 #[1 Tal SieE SR @B sk Seoifye 2|
(SET NG FIER ALC! GBI (TR (FoeT© (%1 (Z(R; (AT (AN SN91Ca 91°Ca1 B! feies etz | ReifRmpterziae
D! freie SRfFe 2

(A) Tl (B) = (C) =% (D) Te1

104. FTAE OF ANHE T RRIRWIE ISAR A@E 21 (7 570 (AT Q! 8F I G0 G
I | AWM AT G0 @TAEHHIE T ZCACR, IS AN I | Rk @ M 2
(A) Wil (B) & (C) =if*sw (D) Tex

104. WIEHAT SIS &A1 Hmrrcianterars i | ol TrsiRe SHaRaH Wy T GreHrare Skherd |
ST AR Y& Lo Araeiedl, disit e BfSEmE diedl | geEaidrasn g fas ?

(A) Wl (B) HISEl (C) HrrwEl (D) Hw@

104. 3797 R TleT o foQ Agehe ! favafaene S € | 98 T4 o e oieh o799 ¥R) 9 Y& goTl 3R T 9N
R TEA| I AR H TgHh Th 9 WIH T AT A 7| Sl S H Tgh W Y TH WIREH |
foreafommem forg fam & 82
(A) Tfer (B) Td (C) fe=mH (D) SW

105. Identify the word with no pair of consecutive letters placed together.

(A) Alphabet (B) Partner (C) Rightness (D) Station

105. (I QAR FHE 35 Grrereal 92 = 6] el 55 |
(A) Alphabet (B) Partner (C) Rightness (D) Station

105. (I GFEe Fie 3¢ Ao srifFe Tk =%t Hies w |
(A) Alphabet (B) Partner (C) Rightness (D) Station

105. WA o Hiererel SR Wi omn g o 2
(A) Alphabet (B) Partner (C) Rightness (D) Station

105. 39 ¥ i IgaM hi TSHH AR 1R &1 i Siel Teh M9 7 1@ T3 |

(A) Alphabet (B) Partner (C) Rightness (D) Station
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106. What would be the digit exactly in the middle when 65749 is subtracted from twice of itself ?

A) 9 B) 2 < 7 (D) 8
106. I 65749 FRATCHRE T Fel AT 7/ Kol 741 2, (S0% TGN 05 EHNIens 26 S (529 2
A) 9 B) 2 < 7 (D) 8
106. 65749 ( ©F 7w (AcF Kee e 3% T oF’ F 2 2
A) 9 (B) 2 < 7 (D) 8
106. 65749 @i fafT JHFSTRTEAEE TG sl Q" SHfSHIA TSR SrfsmEn 11 2
A) 9 B) 2 < 7 (D) 8
106. & 65749 %! IGh T W F fan S o1 gRem & Sk oia | -1 37 grm 2
A) 9 (B) 2 < 7 (D) 8

107. Which two terms would come next in the series :
24, 26, 35, 63, 48, 124, 63, 215, ?, ?

(A) 76, 430 (B) 83, 310 Q) 99, 511 (D) 80, 342
107. 24, 26, 35, 63, 48, 124, 63, 215, ?, ? *RIFANGIN /TS O (e oI A2 (2T 2
(A) 76, 430 (B) 83, 310 Q) 99, 511 (D) 80, 342

107. 27E TAHCe 2RS! (i 9fb 7120 ST 2
24, 26, 35, 63, 48, 124, 63, 215, 2, ?
(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342

107. TRMEM a6 Hiw Ufaa B/ geae SA1d I - 24, 26, 35, 63, 48, 124, 63, 215, 2, ?
(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342

107. ST 24, 26, 35, 63, 48, 124, 63, 215, ?, ? H 3TN 9 ¥ T Ug 1 2
(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342

108. Of the following words, which would be the last to appear in a standard English dictionary ?
(A) CONTINENT (B) CONSTANT  (C) CONSIDER (D) CONTINUE

108. G AF TRAG| TfoUTS FTRFARS *RETEd @G =R FHeRe i 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

108. R *rafw A @ @ S BEE! SfedEe (i aviie 21 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

108. RS S HRERRH TSE, Jd Fiaren A gt diare foagste SAfaEre Jsim ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

108. fr=fafad vssi § 9, A SISt s | AaTen SHAfaH I8 Shia 91 8 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE
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109.

109.

109.

Soniya drives four km towards the west from her home, where she crosses a bridge. She takes a
left turn and the drives for six kmes, till she arrives at the town center. Here she takes left again to
drive for another twelve kms to reach her office. If she decides to take a shortcut on bicycle, what
would be the shortest possible distance between her home and office ?

(A) 18 km (B) 12 km (C) 9km (D) 10 km

(RIIZ 71 #A_1 sif*6w r=itet iR 1.5 91 betiE @< etk 119 23 | Sl AETFICE T[ =7 .. Sia[if Giee
(55T ToifFe 27 1 337 ©iF 57 AN freel 97 =nis 317 6.0, 181 5112 iz wifis oiital | 3 ©i2 53 Athea
HlECFeTe @RI P&l o, (0% ©I29 11 Wi SIRF5S NG o AT 199 39 2732

(A) 18 M. (B) 12 F.fL. (C) 9 R=.fw. (D) 10 6L

T Ol AT (AT =163 eE o 7., 9l I, (@A (1 930 T Sifoems FE | (@1 A Wi (e
(T @R R 6650, 9IS BIfeTea 9913 (e (o11=IT | @It (3 ORI Jiiwss e Qi =666, 9N siferca =it
TR | @7 3 TRERE #itel AR AT Fraie (717, Sizee o Y @R SIRFER N Paos 7y Fo
@ ?

(A) 18 .M. (B) 12 R.f. (C) 9 =H (D) 10 &M

109. TfEmn waf = 'fwE deEf o fhe 'fier MR aremee oret Swe fo gren v awRe | fah sfafi
faféam g’ forat 'faeR oM o= I=R diean | fo same e stfafy ffdam o foer 'frer ik
AR e Aragferard Grea | Sfe foe arehal AT g’ amrsh aret, faft 7' 1R aergfafi
TR G S oy ?

(A) 18 fa.fA. (B) 12 fw.fA. (C) 9 fmfa. (D) 10 f&.fA.

109. TN 319 ¥} G 9fem st 3R =R et M) =t €, el 98 Tk Yol IR il § | 98 91 3R et ¢ 31k
TR YR UgTH qh B fRH d% TS T ¥ | IRl 9% 19 HEierd q% Tged o fore R @ o1d gedt ©
3R =R Tt e TSl =t § | Afe 9% wEfhd W widwe o w1 fola ot 8, @ S5 R iR wEfed %
S = Hed g 1 g ?

(A) 18 km (B) 12 km (C) 9km (D) 10 km

110. Identify the word which cannot be made from CARBOHYDRATE.

(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

110. CARBOHYDRATE F % /128l F/ RIS = o] belle 7 |
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

110. (3 =76 CARBOHYDRATE (& (o9 41 A7 =11 ol fofee iz |
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

110. TEEM ¢ WRE@ CARBOHYDRATE ™ fegami gmn ?

(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

110. 39 I & 8=, St CARBOHYDRATE ¥ & a1 ST Hehdl |

(A) AHEAD (B) RETRO (C) YACHT (D) HYPER
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111. What would be the middlemost digit in the smallest number that can be made using all the digits
of 8936217 ?
(A) 3 (B) 6 © 7 D) 9
111. 8936217 TGN SRA(H2D! IS FE A5 S A= JpeTos MG 05 Giisliers (@It ok A 2
(A) 3 (B) 6 © 7 D) 9
111. 8936217 &3 3B SFBfe] 2 I 7 FOOY A 13 s o fS F1 23 2
(A) 3 (B) 6 © 7 (D) 9
111. 8936217 T T YRISHIRRG! AHM SHI BFE SAMEE T SN TSR UR1E o= ST 71 2
(A) 3 (B) 6 © 7 (D) 9
111. 8936217 % |fl afeni i1 ITANT ik I8 ST ATcil Tord Bl &A1 HEATH ek T BT 2
(A) 3 (B) 6 © 7 D) 9
112. Identify the incorrect Roman number.
(A) Thirty six : XXXVI (B) Ninety nine : XCIX
(C) Seventy four : DXXIV (D) Nine hundred : CM
112. &% (@ RG] e 355 |
(A) = ¢ XXXVI (B) ™It ¢ XCIX
(C) (5PIes 8 DXXIV (D) ™ ¢ CM
112. oiw% @R R Bize =)

112.

112.

(A) =@ XXXVI (B) fmN=E : XCIX
(C) D& : DXXIV (D) =% *: CM

TRifer T T ST 9 ?
(A) g™ 5 & XXXVI B) TN :XCIX
€ fafas:Dxxiv (D) SHT':CM

Terd UHH &A1 UM |
(A) BUE : XXXVI (B) T=ma : XCIX
(C) =E® : DXXIV (D) g CM
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113.

113.

113.

113.

113.

Lohit walks from Black to Pink, which are 9 meters apart. At Pink, he takes a right turn and walks
4 meters to Blue. He takes another right turn and walks a distance of 9 meters to Red. At Red he
takes a left turn and walks 2 meters. How far is Lohit away from Black ?

(A) 4 meters (B) 13 meters (C) 22 meters (D) 6 meters

@fEre @ B3 =111 9 bR yaws 45! o3 gimca (el a1 e e (o Gitaics 901 wiiss 4 fSoR
(GG g F SAIF0a | 3T (08 771 PRI 901 9= 9 Flb (IS (@€ B9 57| ({C FiTe (o€
AERCT I % 2 O (NG Fw | (2w Gf o @ Zee == [l rage 06 2

(A) 4 TR (B) 13 o™ (C) 22 FER (D) 6 foR

@I G (A0S I e 20, TR 7aw 9 fiow | Poiiee o1 o faces ale @13 @3k 4 SBR &06 0@ 5
| (T SRR THMCE (IS T2 93 9 FlBR 77T (206 @S (=R | (@ (0F (7 A (G (17 3% 2 {5
T | (RS GF (AT T 0 R ?

(A) 4 RTRE (B) 13 fo® (C) 22 ow (D) 6 o™

Wifean serehfwR fishfam 9 fer emem | fishra foret sttt ffdam 4 fger ememA™ sqema S | fo=
SR STATRTTY FfEAM 9 fier s emem | X5 fort stfafel fifdam 2 faer emem | <ifedr s
Y TSI T ?

(A) 4 R (B) 13 feRr (C) 22 fAer (D) 6 fHeRr

difed stk  fieh T Jerdn € S 9 Hiex &t gt W & | fih W 9% Il JaaT 7 37K =g i 7R 4 Wex Ford €

I8 T IR TR 3 G © IR ¥ q 9 Hiet i T 79 el € 1 38 W 98 o1t 7R gt © 31 2 Hiex e
T | Siifed =t & fopat WE?

114.

114.

114.

114.

114.

(A) 4 HX (B) 13 HI&X (C) 22 HiKX (D) 6 HieX
Identify the odd pair.

(A) Pacific : Water (B) Himalaya : Mountain
(©) Vesuvius : Volcano (D) Mississippi : River
S (@RI e 5 |

(A) ==ig ¢ T (B) fawiera ¢ oS

(©) Tl ¢ wtarfif (D) ffefefs ¢ @l

vl (eeil biere e |

(A) =G ¢ T (B) T2l ¢ oR®

Q) CofeaM ¢ SRR (D) fififfst ¢ Tt
EEMUSIECIRERIRE

(A) ufafrs -3 (B) Teuem™ : @i

(C) Ighram : ord =l (D) fafafafy .

SISl SISl ol 9ga™ |

(A) TSI : S (B) Teure™ :wela

(C) =gfor™ : ST El (D) fufafafy . =
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115.

115.

115.

115.

115.

Ramya’s mother is the only daughter of Prachi’s father. How is Prachi’s husband related to Ramya ?
(A) Father (B) Brother (C) Paternal uncle (D) Grandfather

T P 2B e @ 0g GRS | 2A6R T TOR GICS (& TR TFo 2
(A) fore (B) I © = (D) =

A T AG I GFNG GG | T 7 25 1 TN AAF T 2
(A) e (B) ®I2 € == (D) oig=mi

e femmen wr=if fawmfs ae’ frams | greife feameen TSt @ 9 SmE 2
INERERD (B) fac1/ e ) fo=d (D) foai

T Y | Y o Ut Bl Sehaldl S § | T o ufd 1 TR 9 R HeY § ?
(A) o (B) K (C) == (D) <=

116.

116.

116.

116.

116.

Raj has to catch a train at fifteen minutes past three in the afternoon. What would be the time on
a 24-hours scale ?

(A) 03:15 hours (B) 15:15 hours (C) 13:15 hours (D) 23:15 hours

Iice ffer [l Aifer cotea [Nt @2e @St 4fs7 w9l NCz| 24 - IFIF TSI @2 7Y F T 2

(A) 03:15 9D (B) 15:15 ¥<BI (C) 13:15 ¥D) (D) 23:15 5]

A [ Foobl @0 AEE! WG G 4208 @ | 24 - 6 Wl A0 F T 2
(A)  03:15 9o (B) 15:15 Wio= (C) 13:15 @H=H (D) 23:15 9o

IASIE 3 feeT e fafrera a1 Iermet MareAi! | 24-5=1 Sanars 99 T s&e S 2

(A) 03:15 F=T (B) 15:15 &= (C) 13:15 == (D) 23:15 S

TS ol I I aIofa Uge fiFe T 39 Tshel § 124 ¥ & YA W 98 941 B0 2
(A) 03:15 & (B) 15:15 & (C) 13:15 & (D) 23:15 &
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117.

117.

117.

117.

117.

What mathematical signs can be inserted respectively to get a correct equation (calculated left to
right ignoring BODMAS) ?

6513017 []15[]5 =15
(A) -, =, +, - (B) —, X, +, —

<) +, -, %, + D) +,+, —, -

(A€ g 21/ 1 =iteT 9ol FR 924 BODMAS 3w siiesvie F=[) 65 ] 30 ] 7 [] 15[ ] 5 =159
GF T AT AR @FHER NelfsT Bz @™ Twge FH =fox 2

A —, =, +, - B) -, x,+, -

<) +, -, %x,+ D) +,+, —, -

G5 IS AT (olce F1 alifafos Pref e AfFERe T @ *I@ (BODMAS Tt a1 I
(AT TG 9o T ZERCR) ?

6513017 []15[]5 =15
(A —, =, +, - B -, x,+, -

<o +, -, x,+ (D) +, =+, —, —

TS HAEMATISTIR ARG SRS OR FHALRE! HH41 g (BODMAS FH@! Fa e, STfafTwm
ST fedTel @rerHsiet) ?

6513017 []15[]5 =15
(A) -, =, +, - (B) —, X, +, —

<o +, -, x,+ (D) +, =+, —, —
eI FHIRROT (BODMAS i 3T i g¢ ST | T UM W A & Feag shaer: siF § v fag
= ST T Hhd § 2

6513017 []15[]5 =15
(A) -, =, +, — (B) -, X, +, -
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118. Statements : All pencils are pens.

All the pens are inks.

Conclusions : 1.  All the pencils are inks.
2. Some inks are pencils.
A) Only 1 conclusion follows

(

(B)
©)
(D)

Only 2 conclusion follows
Either conclusion 1 or conclusion 2 follows
Both conclusion 1 and conclusion 2 follow

118. of& ¢ ABCEIER (oARRTETS F7o |

AR FEACE BRI |

Pmw: 1. FASENER (sifRecs B

(A)
(B)
©
(D)

118. f3fe

TS

Z

B)
Q)
)

o~ o~ o~ o~

2. fogam foaldl tarm coffeeat |
@< % 1 © Boie 29 iR |
&7 Pl 2 © Toiare 29 71|
1&g 1 91241 2 © ToRTe 29 Al |
1971 2 Tow Fraiers Toiete 29 A1 |

g 1 (AfTE e |
R e BT |
3s 1. 1 oAfere e
2. (g3t (oiferet |
WY THAEE 1 SRRl F
SYAIG TP 2 SEPIRe BC
= TP 1 912 TR 2 SR IR
T THRIA 1 93 THRI 2 SRl F

118. fogfar:  THal IFEe HaHER

TR et T TIfAhR

EANS : 1. TR gl EifasR

118. h¥ :

2. HEE EIfARR IFThR
1 SELRETA ' T
2 SEARTETe’ THEeE

1 TSTeA 2 I THIHS
e, 1 3R 2, TR

[t Ufgel U9 €|
ot U9 = ¥

ferd: 1. o Ofe T ©

ClecE

2. S WE | )
Foe Frerd 1 R gg=T o 2
Foe Frerd 2 W Tgen ST ¥
1 ot Trreerdl 1 a1 FoeeRs 2 W wE=T ST B
freered 1 o7 frremd 2 S W wg=n ST 71
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119. How many milligrams make one kilogram ?
(A) 10 (B) 103 (C) 104 (D) 10°
119. & feemiare g0 e e e
(A) 10 (B) 103 (C) 104 (D) 10°
119. ¥ Nt ¢ [Feam =g 2
(A) 10 (B) 103 (C) 10* (D) 10°
119. 99 fafermasi 9 foret oma <t/ 2
(A) 10 (B) 103 (C) 104 (D) 10°
119. foa faefium 9 e framm™ o7 g ?
(A) 10 (B) 103 (C) 104 (D) 10°
120. Which of the four given sequences would be meaningful for the words ?
1. House 2. Street 3. Room 4. Town 5. District
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(C) 3,1,4,2,5 (D) 5,4,3,1,2
120. 1. =R 2. 3. @ 4, o9 5. fee
G *ITF AN AN TP (00! G ST TS 2
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(C) 3,1,4,2,5 (D) 5,4,3,1,2
120. =€ 5 TGN &y (AT TSR Ty w7l 27 2
1. 3T 2. AW 3. FF 4. N® 5. (S
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(C) 3,1,4,2,5 (D) 5,4,3,1,2
120. TREM o6 STUE WA 2FE GReERRE! 2119 T4 Wi ?
1. = 2. @M 3. @'dl 4, AR 5. TSen
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(C) 3,1,4,2,5 (D) 5,4,3,1,2
120. ST T =R TRl | | HIF-H1 37 I & fow |iefes gnm 2
1. =X 2. HSH 3. &EQ 4. TR 5. fSen
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(C) 3,1,4,2,5 (D) 5,4,3,1,2
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121. What would be the Arabic numeral for MMCDXLVII ?

(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447
121. MMCDXLVII F @ WR_T ALANG! 6 29 2

(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447
121. MMCDXLVII &3 977 7122y fF 363 2

(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447
121. MMCDXLVII {7 3Re sHfsHm=n |1 Smie ?

(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447
121. MMCDXLVII & fau 3t 3ish a1 8 ?

(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447
122. If 9 < x2 < 25, then the correct value/values of x is/are :

(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4
122, T 9 < x2< 25, (OCT x T &7 W / PTZ (20T —

(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4
122. M9 < x2< 25 T, O x -7 BF Wi (J ¢

(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4
122. S99 < x2 < 25 S, 3T&el x T IR 9 / AFSR :

(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4
122. IfC9 <2< 25 A x H A AA © :

(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4
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123. Identify the set that does NOT follow the common rule as others.

(A) 2:8:64 (B) 4:64:216 (€) 6:216:512 (D) 5:125:345

123, SFPTET Seaze Rl s SRpiRel w@at K001 Helle 73 |

(A) 2:8:64 (B) 4:64:216 (€) 6:216:512 (D) 5:125:345

& s

123. SR SCO! G2 Al s Sl | w1 71266 Bizre e |

(A) 2:8:64 (B) 4:64:216 (€) 6:216:512 (D) 5:125:345

123. TRMAM 99 Y1 TEAHR TR S 9= TH A= ?

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345

123. 39 9 I TE9H i S GHY ol T 4 1 il e & L § ¢

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345

124. If A=26, B=25, and so on till Z=1, then what would be the sum of STAR ?

(A) 32 (B) 67 (C) 50 (D) 55

124. T A =26, B=25, SNi% G SNo_ID (o Z=1 T, (50T STAR I 5 (Nizre] fFalley 292

(A) 32 (B) 67 (C) 50 (D) 55

124. WM A =26, B=25, 432 O3l U Z=1 T, ©@ STAR I3 (5T T (J ?

(A) 32 (B) 67 (C) 50 (D) 55

124. 9fc A=26, B=25 91 Z=1 fam Sree!, o7ee STAR 1 S=Term s S ?

(A) 32 (B) 67 (C) 50 (D) 55

124. Ife A=26, B=25, 3R 3 Z =1 I TE YR &, I STAR kT INT T BT 2

(A) 32 (B) 67 (C) 50 (D) 55
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125.

125.

125.

125.

125.

Which of the following is correct when calculated from left to right, ignoring BODMAS, if the rule
says, 5+2=3,5-2=7,10+2=20 and 10x2=5 ?

(A) 9%x3-1+2=18 (B) 5+1+4-3=19

(C) 6x2-1+2=12 (D) 7+2+4-2=14

BODMAS st sihalel & af 54+2=3,5-2=7, 10+2=20 % 10 x 2="5 I 7(I {77 SepRe T4t 27,
(0T ST 291 HIfiteT sieli Sfcet Fafie e @) Sfe w2

(A) 9x3-1+2=18 (B) 5+1+4-3=19

(C) 6x2-1+2=12 (D) 7+2+4-2=14

I @B N 5+2=3,5-2=7,10+2=20 €32 10 X 2 =5 T, O BODMAS T(oF I IV (AT I
aieiell AT AT Ao (P W7 2

(A) 9x3-1+2=18 (B) 5+1+4-3=19

(C) 6x2-1+2=12 (D) 7+2+4-2=14

e MUY 5+2=3,5-2=7, 10+2=20 3R 10 x 2=5, 3 BODMAS 1 F0@t Jafgar swfafem
ST fedma WeHeee e s6 9R ?

(A) 9x3-1+2=18 (B) 5+1+4-3=19

(C) 6x2-1+2=12 (D) 7+2+4-2=14

afg fm 542=3,5-2=7,10+2=20 3R 10x2=>5 *&d §, a1 BODMAS &l 3@l Fd gL, aM¢ §
M T AR AT HH R F=fafed § 9 wE-91 98 82

(A) 9x3-1+2=18 (B) 5+1+4-3=19

(C) 6x2-1+2=12 (D) 7+2+4-2=14
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126. What would replace ?? in the triangle set ?

N
A) 9 (B) 11 (C) 10

126. fage WIS GR 2?2 TTe F W7 A 2

(4) (8)
@A@ @A@
(A) 9 (B) 11 Q) 10

126. Tqge 720t 22 B [ eforifore 2 ¢

A A

126. ST JE ? 2 Tl AISl WG ?

N
A) 9 (B) 11 (C) 10

Paper-1/ C 61

P.T.O.



126.

3 T e wge § 2 2 1 T A o ?

N\ S\
(A) 9 (B) 11 (C) 10 (D) 12

127.

127.

127.

127.

127.

A six-faced regular die always has the total of dots in opposite faces as 7. Four such dice are
thrown, and the top of them shows 3, 3, 2, 6. What would be the total of the dots in the faces
touching ground ?

(A) 15 (B) 14 ) 21 (D) 17

a5 -4 & 7w e Fifdvzs awl [ At @ Sicg s 2ifs [eRts i AR 19
(ISR AW 7 27 | DI A 4= Amtefs wieedrs eofar fHifdme @ 3, 3, 2, 6 e AR @
a1 | sl F2oR B ox Tt FifdTrzs ol i R 5 @i [ 2

(A) 15 (B) 14 ) 21 (D) 17

T e =y d Az (=) 46 RedTe +joa [Reva (@i 73wl 7 | @2 <0 SR sl fiesst 31 =7
GRR SIHE MM 3, 3, 2, 6 77 (i | Bfsl = a1 sjro Repefm @b @isies T 23 2

(A) 15 (B) 14 ) 21 (D) 17

T Ol T Seaf Sel HIERRE o o< S SsamE 7 | His TS SRaEl g it
TG 3, 3, 2, 6 faf-erci | memfe amm SreieR e -

(A) 15 (B) 14 ) 21 (D) 17

Teh ©8 Horsh! At o B ghen faudia werh! B feigadl o1 an 7 3an 8 1 T8 =R i Hes 9 €, 3T Sk
3 W 3, 3, 2, 6 foig few@m Ta1 8 | A 1 A At Werehl § foigail 1 Fa A @ gom ?

(A) 15 (B) 14 ) 21 (D) 17
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128.

128.

128.

128.

128.

What should be the missing number ?

69|15
8 (12] ?
41610

(A) 18 (B) 16

o AR 6 27 AR 2

69|15
8 (12] ?
41610

(A) 18 (B) 16

woifEe R 7e e ¢

69|15
8 (12] ?
41610

(A) 18 (B) 16

AT @A A 7S, STt SR 2

69|15
8 (12] ?
41610

(A) 18 (B) 16

24

24

24

24

24

20

20

20

20

20
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129. Statements: I.  Non-metro cities in the country have been suffering due to load shedding

for quite some time.
II.  If the Government is not able to overcome the power crisis, load shedding
will be extended even to the metro cities.
Which of the following conclusions can be drawn ?
(A) Both Statement I and Statement II are effects of independent causes.
(B) Both Statement I and Statement II are effects of some common cause.
(C) Statement I is the cause and Statement II is its effect.
(D) Statement II is the cause and Statement I is its effect.

129. Tf& 3 I O TGl RE 523 e (e (+ifex At 0@ e o1t 8 gl ifacz|

129.

129.

129.

I W 539 Rgged 7H6 11 FRA @RIE, (9T GG 527 RS @ (o] sTehifie
7]
Fefefie @ Praes Toare 29 AT 2

(A) Tf@ I 9= T 11 1G] Fog F96 A @[ 2oR |

(B) & I 91 Tf& 11 TCAG! (I TLZS I SIS A (ZAT 2SO |
(C) ¥ I (g T o1% Tf& 11 (202 27[ 2e[ |

(D) ¥f& I (2 19 917 Tfe 1 (202 271 4[|

f(fos 1L @ oy a2 Ry 262 = &) (rees S9-GaI08 1 =12 tel golcz |
IL  RSR Ry 730 FHE TITS =1t AR (G *=as [je 252 oIS =@ |

e T (iR GopreRibee (TRl AR 2

(A) Tz fFfe1 =z [l 11 =& Frcen deq |

(B) ey fgfel uzg RIfe 11 @2 TRceR 2or |

(C) TIfe1 = Fiel =z fFFe 11 =7 =ifFes |

(D) TRz T @3 [JFS1 =7 ~ifFes |

fagfawic: 1. AR 9 ARIRERT S gedd Hifserd URAM (Load Shedding) T 1@ emafTsres
G HRII ST |
I S TEr Hifserd MR sTiEreral Jig-l srmeel Hifsetd TRATAT ARTRATRR FH T |
NEREEECRINE RIS ICEIR R
(A) Tagfer 1 o fagfer 11, Fr-e 351 SRAf e
(B) Tasifer 1 3R faraifer 11, el <1'oma SRAf SsH
(©) fadfar 1 o1 S o fagfa o osn fafy S
(D) fagfr 11 311 SR 1R fargfer 1 311 fafy s

HIT: L U IR-II IR KR I G A AET Y T § 5@ W L
II. STR SR fosiell Hohe | S 7@l TS dl Al TS 1 SRR Hel I ah ot 9¢ S |
frafafaa § @ =F a1 freed freren s aear § 2
(A) HAT IR BYA I A T HROT &F G F |
(B) RYUMI STRRYU I SHI FRET WM HROT o JoTel € |
(C) HITI FRU T IR HY 11 THH I9E T |
(D) A I FHRI & AR HYT [ THH I9E ¢ |

Paper-1/C 64



130.

130.

130.

130.

130.

Five cadets Charles, Harmit, Om, Piyush and Tapan were asked to pick up one each of the geometric
figures : a circle, a pentagon, a trapezoid, a hexagon and an octagon. They had a condition that
one cannot draw a figure which has a name with same first letter as that person’s name. Om’s
item has exactly one pair of parallel lines. Charles, Piyush and Tapan picked figures with more
sides than a quadrilateral. Piyush as well as Tapan’s figures had lesser sides than Charles’figure.
Who picked up the circle ?

(A) Harmit (B) Charles (C) Piyush (D) Om

A5 S_IFT (FCW6 Charles, Harmit, Om, Piyush ¥1% Tapan ¥ Circle (J€), Pentagon (#1%¢%1), Trapezoid
(Gf#feriT), Hexagon (I8gE) IR Octagon (T2ee) Wi Srififes Havea aiibicE Al «7'<ta @il
T | S T (T (OETEIRR TG AR SRR (ICS (D€ AU (-1 B T[S s sl [N
@RIET 1 @ 9 (@ Om < e 55 QIR TESIeT (92 A | Charles, Piyush 9% Tapan d foaw 2
TR FYSTA BRSO BfEF | Piyush S Tapan I 5@ Charles I baets w0 77 A AT |
Circle (3€) ! i Ao teifea 2

(A) Harmit (B) Charles (C) Piyush (D) Om

AAfvee 7 RIS (F91095) Charles, Harmit, Om, Piyush @<} Tapan (F yifufes 59 Circle (3©),
Pentagon (#1%g%), Trapezoid (cGfifemm), Hexagon (FTwE) €3¢ Octagon (TFQE) € (@ (I
G5 @0z [F0e 76 2@t | et @3 *1$ (el oot (@ SIgal Areis G5 G5 g e &= i, @
Dafba M 2L OFFd O e ALY TR AL G52 Om «F Hafbre 55 aaesiol wee @2
JCR| Charles, Piyush @3} Tapan ‘DQ—QCW o @ ARG Be @z N | Piyush ¢} Tapan @9
5@ Charles <3 5@ (2= T A= {257 | Circle G\ T (& wrerles 2

(A) Harmit (B) Charles (C) Piyush (D) Om

e faferel ®UTERR Charles, Harmit, Om, Piyush i Tapan @l FTH HHw H’HHS‘IT{:T G
Circle, Pentagon, Trapezoid, Hexagon AR Octagon @l 9@ e arnifeEel | faarfe e e
SAME S TaraE At G |y giEsi S aemiEt sfEan | Omf arermfen S fam st 96 |
Charles, Piyush 3TRI Tapanf™ SeRTRGRET STE-2rsiT ST @12 | Piyush 3T Tapan®@l Charles
e WA | Circle Bl 9 9@ @t ?

(A) Harmit (B) Charles (C) Piyush (D) Om

g el Charles, Harmit, Om, Piyush 3R Tapan Sl Th Toh SAMHA dﬂghfﬁ Eql g &% fau e
T : T 94 (Circle), T TFhI0 (Pentagon ), T HHAH (Trapezoid), Tk W24 (Hexagon) 3R Th
JTWHIU (Octagon) | TR U off sl RIS i THT MThfd & o Fehal FSTEehT SAUSH A 1 T2 HaR 39
Fferd & SAUST 919 F Tgall &R o T &1 Om & TEeH H IR @l & foagpa T siel |
Charles, Piyush iR Tapan 7 IgYS 9 ek yssii areft Wﬁ'ﬂf A1 | Piyush iR Tapan 1 3TTehfaaii
%I YU Charles &t 3Thfa ¥ &1 off | 99 FI fHa M2

(A) Harmit (B) Charles (C) Piyush (D) Om

Paper-1/ C 65 P.T.O.



131.

131.

131.

131.

Which one of the figures is different from the rest ?

-

——

»

|

(A) 2

2

(PICH! o SCaiss Tee [l 2

3
(B) 4

4

-

——

»

|

—_
>
~
N

2

3
(B) 4

4

T (@0 s (A e 2

-

——

»

H@%Q

(A) 2

2

3
) 4

(B

4

e AFE FIEATR USRI HlAlgl

o

——

»

gIS

(A) 2

2

3
(B) 4

4

131. SAThfqal H ¥ HF- 99 Ahiqal 9 fa= €2

»

(A) 2 (B) 4 € 1 (D) 3

o

132. What letters would fill the blanks in
AO_BPP__ _ QDR__ _ SSFTT
(A) OCREQ (B) OCQER (C) OCQRE (D)

132. (o1 3 3@ AO__BPP___ QDR___ SSFTIT I R& ZhIg 27 F 2
(A) OCREQ (B) OCQER (C) OCQRE (D)

132. (A Iefesfer g 7 T 2
AO__BPP__ __QDR__ _ SSFTT
(A) OCREQ (B) OCQER ©)

ORQCE

ORQCE

OCQRE (D) ORQCE
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132. 99 TGRS @Gl ST 311§, WA ST ?

AO__BPP__ __ QDR__ _ SSFTT

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
132. AO_BPP__ QDR ___ SSFTT ¥ flad T &l &hiF ¥ 378N W7 ?

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
133. How many squares can be identified in the figure ?

(A) 21 (B) 18 (C) 19 (D) 26
133. oo foacore Rexieb! 8fcwa (ol T 2

(A) 21 (B) 18 C) 19 (D) 26
133. e fora af6 3of fofere it amca 2

(A) 21 (B) 18 (C) 19 (D) 26
133. HErMREE JH o9F o7 A JH4 ?

(A) 21 (B) 18 C) 19 (D) 26
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133. @ ™ fox # fohae o wg=m <1 9ehd € 2
(A) 21 (B) 18 <G 19 (D) 26
134. Which word features less than four different vowels ?
(A) Promotion (B) Sustainable (C) Question (D) Potential
134. CFA0H! *S HIfRGIOCE T MY forl fom waaef i 2
(A) Promotion (B) Sustainable (€) Question (D) Potential
134. (@ =[bre bR 5 for amim wwae ©ieg 2
(A) Promotion (B) Sustainable (€) Question (D) Potential
134. AR 96 Hiaree Hs T TR gl § ?
(A) Promotion (B) Sustainable (C) Question (D) Potential
134. foFm o # o) & &7 firs @R o1am 2
(A) Promotion (B) Sustainable (€) Question (D) Potential
135. If ROCKET is written as TQEMGYV, then what would be the last letter when RAINBOW is written
by the same code ?
(A) Z (B) Y © A (D) U
135. ¥ ROCKET & TQEMGV fZ51t3 T 31 ), (ST 735! '8 RAINBOW et 330 wifies 3¢5

135.

135.

135.

29 ?
A Z (B) Y © A (D) U

M ROCKET (& TQEMGV 2@ (12 =, SR @2 7ES aidl RAINBOW (&1l (A (X1F S FI
{q ?

(A) Z B Y < A (D) U
e ROCKET @ TQEMGV fatir SiEll, 31eaT o TE Fesii RAINBOW foreat Siaien gi@ist |1 S ?
(A) Z B Y < A (D) U

Ffe ROCKET & TQEMGV & &9 H e Sim €, 1 S5 &I g1 RAINBOW o1 forga | 2ifaq 31aR ==
AT ?
(A) Z B Y <© A D) U

-00o0-
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